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 ���������
�	��� �� ������� �

� ����� �� PSL2(Fq) �

��� ���������	 �� ������ PSL2(K) � � � � � � � � � � � � � � � � � � � �

��� ���������	 �� ������ PSL2(Fq) � � � � � � � � � � � � � � � � � � � ��
��
 �����	��������	 �� PSL2(Fq) � � � � � � � � � � � � � � � � � � � � ��

� ��
����	��� ��
��� ��������� ��	  ���������	 � � � � � � � � � � � � � � � � � � � � � � �!
��� "�##�	 ��  ����� $����	 � � � � � � � � � � � � � � � � � � � � � � � ��
��
 %���������	 ������$��&��	 � � � � � � � � � � � � � � � � � � � � � � ��
��� ������ ��&�� 	�� ��� '�#���� ��  ���������	 � � � � � � � � � � � � ��

�  ��������	�� ��� ��
���� Yp,q ��
��� ���������	 � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � �(
��� )	��#�����	 	��$�����	 � � � � � � � � � � � � � � � � � � � � � � � � �*
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��

+�� '�#���� �� ������	 �
���	���	 �	� ��� '�#���� �� ������	 ,������� �	�#�-
���� ��#��� �� &����	 ���������	 �� $����
���. �� 	��	 �
��	� ���	 �� ����-
������ ���� +�� �� ����	 �����$�����	 �,��������	 �	� �/������	����� �� ��	���

�� ��'��#��� ���

0� ���� ��#������ �/�
�	���$� �� �����	 '�#����	 ��� �� ����#��� �� ����#-
&��#��� 1$'� 2�3. ���� �4�

��� �
��	� ���	����. �� 	��,��� 2�3. ��� $��	���$���� �
���$��� �/��� '�#����
�� ������	 �
���	���	� �����  ��	���� � ��� ��	���� 	�$$�		�,�#��� 5 �/����
�� �� ��������� 164 �� 7�8���� ��� 9������	 1$'� 2
34. ���	 ��:$� 5 �/����� ��
'��#�	 #��������	 1$'� 2�3 �� 2�34 �� ���� ��� ��	 #������	 ���#�������	 ���	�����	
���	 2�3.  �� ���	 �
��	��	�

� �������

"���G �� ������ ���. �� A 	� #����$� �/��;�$��$�. �����  �� Aij 	��� �� ��#&��
�/��<��	 ������� ��	 	�##��	 i �� j� ���	 ����� �� 	����. �� �� $��	��=����  ��
��	 ������	 k-��������	. ���� ���	  �� $�� �� 	�##�� 	��� �/�
���#��� �� k ��<��	�
�� ���	. ��	 ,�$����	 	�� ��	 ���	 �� #����$� ���� 	����� �����	����	 $�##� ��	
'��$����	 �� �/��	�#&�� V ��	 	�##��	 ���	 C� ��	��	 ���$ �2(V ) = {f : V →
C}. #��� �� ������� 	$������ ���#����� �	����

��� ������	 �
���	���	

>� #����$� �/��;�$��$� A �	� 	�#���� ��� ?����	 μ0 � μ1 � · · · � μn−1 	�	
,�����	 ������	. �@ n �	� �� ��#&�� �� 	�##��	 �� �������

!�����	�	�� � " �� G ��� �� �	
��� k
	������	 � n �������� 
��	�

��� μ0 = k �

���� |μi| � k �� 1 � i � n− 1 �

����� μ0 ��� �� ������������ 1 ��� �� ��������� ��� G ��� ��������

"��� V �/��	�#&�� ��	 	�##��	 �� G. �� E �/��	�#&�� �� 	�	 ��<��	� "� F ⊂ V .
�� ������ ∂F �� 	��	-��	�#&�� �� E $�#��	� ��	 ��<��	 ����� ��� �
���#���
���	 F �� �/����� ���	 V \ F �

#�$�	�	�� " >� ������� �� G �	�

g(G) = �������� �� ���	 $���� $��$��� ���	 G,

�@ �/�� ������� $��$��� ���� ��$�� ��� ���,����

!�����	�	�� � " ���� G �� �	
��� k
	������	 ���� �� V ���������� �� ��� ���

����� �� k � 3� �� 


g(G) < 2 + 2 logk−1|V |.

��	�
�����
�
 � "��� v0 �/�� ��	 	�##��	 �� G. �� B �� &���� �� $����� v0 ��
�� ����� r = �(g(G) − 1)/2� 1�� A ��	���$� B ����� ���
 	�##��	 �� G �����






�� �������� �� ���	 $���� $��#�� ��	 �������4� ��� ��������� �� g(G). B �	� ���
&���� 1�� �����$����� $����
�4  �� �� $�#����� ��	 �� $�$��� C� 	/���� ���$ ��
'��� �� �� &���� �� ����� r �� �/��&�� k-��������. ���� �� $��$��� '�$���#��� ��
$������� D

|B| = 1 + k
(k − 1)r − 1

k − 2

)� �$��,���  �� logk−1|V | � logk−1|B|. �� �&����� g(G) � 2 + 2 logk−1|V |� �

#�$�	�	�� " >� ��
���
�� 
�����
	���
��� �� G �	�

h(G) = inf
{ |∂F |

min{|F |, |V \ F |} : F ⊂ V, 0 < |F | < +∞
}
.

#�$�	�	�� " "��� (Xm)m�1 ��� '�#���� �� ������	 $����
�	 k-��������	 �����  ��
|Vm| → +∞  ���� m→ +∞� >� '�#���� (Xm)m�1 �	� ��� ��	
��� ������
�����

	/�� �
�	�� ε > 0 ���  �� h(Xm) � ε ���� ���� m � 1�

%����&�� 
 " ���� G = (V,E) �� �	
��� ���� �������� k
	������	 �� �
��
�������� �� 
 
��	�

k − μ1

2
� h(G) �

√
2k(k − μ1).

��	�
�����
�
 � E�
��	 ��&�������#��� ��� ����������� �� G� "� f ∈ �2(V ). ��
������ df ∈ �2(E) ��� df(e) = f(e+) − f(e−). �@ e− �� e+ 	��� ��	��$��,�#���
�/������� �� �/�
���#��� �� e� 0� ���� d∗ : �2(E) → �2(V ). �/��;���� �� d ���� ��	
�������	 	$������	 ���#�����	. �� Δ = d∗d� 0� $��$��� ����	  �� Δ = k · Id−A� "�
f ∈ �2(V ) �	� ����������� ��
 '��$����	 $��	�����	. ���� �� ���#��� 	��	-�	��$�
������. �� �&�����. �� ��$�#��	��� ���	 ��� &�	� �� ,�$����	 ������	

‖df‖2 = (Δf |f) � (k − μ1)‖f‖2
.

"��� #��������� F ⊂ V � 0� ������ ����	 fF ���

fF (x) =
{ |V − F | 	� x ∈ F ;

−|F | 	� x 	∈ F.

�=	 ���	. fF �	� ����������� ��
 '��$����	 $��	�����	. �� $�##�

‖fF ‖2 = |F | |V \ F | |V |
‖dfF ‖2 = |V |2|∂F |

�� �&�����. �/���=	 �/��������� ���$������  ��

|∂F |
|F | � (k − μ1)

|V \ F |
|V | .

)���. ��� 	�#�����. �� ���� 	����	��  �� |F | � |V |/2. 	� &���  �� |∂F |/|F | �
(k − μ1)/2. �� ���$ h(G) � (k − μ1)/2�

�



���� ��#������ �� 	�$���� ���������. ����� ����� ��� '��$���� f ��	���,�. ��
������

Bf =
∑
e∈E

|f(e+)2 − f(e−)2|.

?����	 ����	 βr > βr−1 > · · · > β1 > β0 ��	 ,�����	 �� f . ��	��	 Li = {x ∈
V : f(x) � βi} ���� 0 � i � r �� f(e+) = βie+ . f(e−) = βie− � 0� � ����	 ��	
�������	 	��,����	 D

Bf =
∑
e∈E

|f(e+)2 − f(e−)2|

=
∑
e∈E

⎛⎝ ie+∑
k=ie−+1

(βk2 − βk−1
2)

⎞⎠
=

r∑
k=1

|{e ∈ E : ie− < k � ie+ + 1}|(βk2 − βk−1
2)

=
r∑

k=1

|∂Lk|(βk2 − βk−1
2)

�� ���	. �/��������� �� ���$��-"$�F��8 ����� ��� ���
 '��	 �����

Bf =
∑
e∈E

|f(e+) + f(e−)| · |f(e+) − f(e−)| �
√

2k‖f‖‖df‖.

"��� #��������� ��� '��$���� f �����  �� |supp(f)| = |{x ∈ V : f(x) 	= 0}| �
|V |/2� 0� � ����	 Bf � h(X)‖f‖2� )� �G��. ��� ����	'��#����� �/H&�� �����
��	 ���������	 	��,����	 D

Bf � h(X)
r∑
i=1

|Li|(βi2 − βi−1
2)

= h(X)

(
|Lr|βr2 +

r−1∑
i=1

(|Li| − |Li+1|)βi2
)

= h(X)‖f‖2

)���. 	��� g ��� '��$���� �		�$��� 5 �� ,����� ������ k − μ1 �� Δ. �� f =
max(g, 0)� %����� 5 $������ g �� −g. �� ���� 	����	��  �� |supp(f)| � |V |/2
1$��������. f �	� ��� �����. $�� g �	� ����������� 5 �� '��$���� $��	����� �����
5 14� 0� � ��	 ���������	

h(X)‖f‖2 � Bf �
√

2k‖f‖‖df‖.

��	�� 5 $��$���� ‖df‖� 0� �. 	� g(x) > 0

(Δf)(x) = kf(x) −
∑
y∈V

Axyf(y) = kg(x) −
∑
g(y)>0

Axyg(y)

� kg(x) −
∑
y∈V

Axyg(y) = (Δg)(x) = (k − μ1)g(x).

�



�/�@ �� ,���� ‖df‖2 � (k − μ1)‖f‖2. 	� &���  �� �/��$����#��� �� Bf �����
h(X) �

√
2k(k − μ1)� �

���� #������  �/��� '�#���� �� ������	 �	� ��� '�#���� �/�
���	���	. ���	
���������	 ���$ �� $�#�����#��� �	�#����� �� �� ���� �������� k − μ1�

��
 ������	 �� ������

"��� G �� ������ �� S ��� ������ ���� ���-,��� �� 	�#���� �� 1���� �����  ��
S = S−14 �� G�

#�$�	�	�� " >� ������ �� ������ G(G,S) �	� �� ������ ���� ��	 	�##��	 	���
��	 ���#���	 �� G �� ���� �/��	�#&�� ��	 ��<��	 �	�

E = {{x, y} : x, y ∈ G; ∃s ∈ S : y = xs}.
0� � #���������  ��� ��	 ���������	 ���#�������	�

!�����	�	�� � " ���� G(G,S) �� �	
��� �� �
 �� � !����� k = |S|� �� 
 
��	�

��� G(G,S) ��� �� �	
��� k
	������	� ��	 ��� ������� ��"��� ��� 
�����	

������� 
������� �	
�����#����� �

���� G(G,S) ��� ������� ��� �� ��������� ��� S ������	� G�

� ������ �� ���� ������

��� �� 	����. rk(n) ��	������ �� ��#&�� �� ��$�#��	�����	 �� n �� 	�##� ��
k $����	 �� ��#&��	 ������	 �����
���

!�����	�	�� � " $� �����	 n ∈ N ����	�� ����� ����� �� ���� �
		�� �����
r2(n) > 0� ��� �� ��������� ��� ���	 ���� ����	� �	����	 p ����	� � 3 ������ 4�
�
 p
#
��
���� �� n ��� �
�	��

�� '�I�� ���	 ��������. �� � �� �����	����� 	��,���� 	�� ��	 ������$��&��	 ��
Z[i]�

!�����	�	�� � " $� ����	� π ∈ Z[i] ��� �		��������� ��� �� ��������� ���� #�	���
����� ��� �	��� �	��	����� ���#
���� %

��� N(π) = 2 �

���� N(π) = p� �& p ��� �	����	� 
#�� p ≡ 1 (mod. 4) �
����� π = εq� �& ε ��� ��#�	����� �� q �	����	� 
#�� q ≡ 3 (mod. 4)�

0� ������ di(n) �� ��#&�� �� ��,�	���	 �� n $�����	 5 i #����� 4. �� d(n)
�� ��#&�� �� ��,�	���	 �� n�

>� �����=#� 	��,��� �	� �J 5 >��������

%����&�� ' " �� n ∈ N∗� r2(n) = 4(d1(n) − d3(n))�

��	�
�����
�
 � "��� n > 0� ��	��	 δ(n) = d1(n) − d3(n)� ���	 �� ���#���
��#�	. �� 	����	� n �#���� �� �� �� ��$�#��	� �� n = km. �,�$

k =
a∏

h=1

ph
rh ph ���#��� �� ph ≡ 1 (mod. 4),

�



m =
b∏
j=1

qj
sj qj ���#��� �� qj ≡ 3 (mod. 4).

C� ,���� ����	 δ(n) = d(k)δ(m)� 0� δ �	� ����� ���

δ(m) =
{

0 	� �� #���	 �/�� ��	 sj �	� �#���� K
1 	� m �	� �� $�����

)� �G��. ��	��	 m′ = m/q1
s1 � "����	��	  �� s1 	��� �#����� 0� � ����	

d1(m) =
s1 + 1

2
d1(m′) +

s1 + 1
2

d3(m′) = d3(m).

"�. �� ��,��$��. m �	� �� $����.

d1(m) =
(s1

2
+ 1

)
d1(m′) +

s1
2
d3(m′)

d3(m) =
s1
2
d1(m′) +

(s1
2

+ 1
)
d3(m′),

	� &���  �� δ(m) = δ(m′). �� $�##� δ(1) = 1. δ(m) = 1�
0� �&����� ���$  ��

δ(n) =
{
d(k) 	� m �	� �� $����

0 	����

��,����	 #��������� �� $�	 �������� 0� �$��� n = 2tN . �,�$ N = km $�##�
���$���##���� 0� � ����	 δ(n) = δ(N)� "� m �/�	� ��	 �� $����. �� �����=#�
�	� ,��� �/���=	 �� �����	����� �� "����. $���� �����	����� �����  �� r2(n) > 0�
���	 $� $�	. ��$�#��	��	 n �� '�$����	 ���#���	 ���	 Z[i] 1��������	  �� Z[i]
�	� '�$������4 D

n = (−i)t(1 + i)2t
a∏

h=1

πrhh π
rh
h

b∏
j=1

q
sj
j

�@ πh �	� �� ������$��&�� ���  �� N(πh) = ph� ��#����	 �� ��#&�� �� '�$����-
	�����	 �� n 	��	 �� '��#� n = (A + iB)(A − iB) �� �����	��� �� '���  �� Z �	�
'�$������� "� n = (A+ iB)(A− iB). �� � ��$�		����#���

A+ iB = ε(1 + i)t
a∏
h=1

πthh π
uh
h

b∏
j=1

q
sj
2
j

A− iB = ε′(1 + i)t
a∏
h=1

πuhh πthh

b∏
j=1

q
sj
2
j

�@ ε �� ε′ 	��� ��	 ��,��	�&��	 �� th + uh = rh ���� 1 � h � a� >� ��#&�� ��
$���
 ��		�&��	 �� A+ iB �	� ���$ �� ��#&�� �� $���
 �� ε �� ��	 th� 0� � ���$
�����#���

4
a∏
h=1

(rh + 1) = 4d(k) = 4δ(N) = 4δ(n).

�

(



(���� � " !��	 ���� ε > 0�

d(n) = O(nε).

��	�
�����
�
 � "� n =
∏k
i=1 p

νi
i �@ ��	 pi 	��� ��	 ��#&��	 ���#���	 ��	���$�	

�� ��	 νi 	��� ��� ���	. ����	 D

d(n) =
k∏
i=1

(νi + 1)

��. $�##� ∀x > 0, log(x+ 1) <
√
x.

log d(n)
logn

�
∑k

i=1

√
νi∑k

i=1 νi log pi

���	. �� �����	��� �/��������� �� "$�F���8.

log d(n)
logn

�
∑k

i=1

√
νi

1
k

(∑k
i=1

√
νi log pi

)2 � k√
log 2

∑k
i=1

√
νi log pi

.

"��� A > 0. 	� √
log 2

∑k
i=1

√
νi log pi

k
< A

����	 �� �����$����� �� #������ ��	
√

log pi �	� #�;���� �� $�##� ��	 pi 	��� ��	
��#&��	 ���#���	 ���	 ��G�����	. �� �
�	�� K ∈ N  �� �� ������  �� �� A ���
 �� k � K K �� #<#� �� �
�	�� P �� ν �� ���������  �� �� A ���	  �� ���	 ��	
pi 	����� #�;���	 ��� P �� ���	 ��	 νi ��� ν� 0� �� ������  �� n � PKν ���$
logn d(n) ���� ,��	 0  ���� n ���� ,��	 �/������ ��$� �$�=,� �� ��#��	�������� �

 ���))
	�� * " !��	 ���� ε > 0�

r2(n) = O (nε) .

 ���))
	�� �� " !��	 ���� ε > 0�

r3(n) = O
(
n

1
2+ε

)
.

� ��������	�	
��� �� �������

0� ���	���� �$� ��	 ������	 �� ������� ��	 �����	��������	�

#�$�	�	�� " "��� G �� ������� +�� �������
���
�
 �� G �	� ��� ����� (π, V ).
�@ V �	� �� �	��$� ,�$������ $�#���
� �� π �� #�����	#� �� G ���	 GL(V )�
>� ����� �� (π, V ) �	� �� ��#��	��� �� V �

�



?��	 �� $��	��������	 ��� �� 	����  �� ��	 �����	��������	 �� ����� ����

#�$�	�	�� " "��� (π, V ) ��� �����	�������� �/�� ������ G� +� 	��	-�	��$� W
�� V �	� ������ ��� π 	�. ���� ���� g ∈ G. π(g)W = W �

"� W �	� �� 	��	-�	��$� �� V 	��&�� ��� π. �� ���  �� (π|W ,W ) �	� ���
������������
���
�
 �� V � >�	 	��	-�	��$�	 0 �� V �� V 	��� ���,����#��� 	��&��	
��� π�

#�$�	�	�� " +�� �����	�������� (π, V ) �	� 
�������
��� 	� ���� �/��#�� ��	 ��
	��	-�	��$� 	��&�� ���-���,����

#�$�	�	�� " "����� (π, V ) �� (ρ,W ) ���
 �����	��������	 �� G� +� #�����	#�
�� �����	��������	 �� π ,��	 ρ �	� ��� �����$����� �������� T : V →W �����  ��.
���� ���� g ∈ G. �� ������##� 	��,��� $�##��� D

V
T−−−−→ W

π(g)

⏐⏐� ⏐⏐�ρ(g)
V

T−−−−→ W

>/�	��$� ,�$������ ��	 #�����	#�	 �� π ,��	 ρ 	��� ���� HomG(π, ρ)� ���
 ��-
���	��������	 	��� ���
����
��� 	/�� �
�	�� �� �	�#�����	#� �� �/��� ,��	 �/������

0� ��#����� '�$���#��� �� ��##� 	��,����

(���� �� " ������ (π, V ) �� (ρ,W ) ���� 	��	�����
����� �		���������� �� G
��� ���	� ����� '��	��

dim Hom(π, ρ) =
{

1 �� π �� ρ ���� �"��#
������ �
0 ������

0� ������ ���������#��� �� 	�##� ����$�� �� �� ������� ���	����� �� ���
 ��-
���	��������	� �� ���	. 	� (π, V ) �	� ��� �����	��������. �� ���� V ∗ = Hom(V,C)
�/�	��$� ���� �� V �� �� ������ �� �����	�������� ����� �� (π, V ). ����� (π∗, V ∗)
���

(π∗(g)f)(x) = f(π(g−1)x) (g ∈ G, x ∈ V, f ∈ V ∗).

"����� #��������� (π, V ) �� (ρ,W ) ���
 �����	��������	 �� G� ���	������	
�� �����	�������� (σ,Hom(V,W )) ������ ���

σ(g)T = ρ(g)Tπ(g−1) (g ∈ G, T ∈ Hom(V,W )).

!�����	�	�� �� " (
 	��	�����
���� σ ��� �"��#
����� � �
 	��	�����
���� ρ⊗π∗�

��	�
�����
�
 � "� f ∈ V ∗ �� w ∈W . �� ������ θw,f ∈ Hom(V,W ) ���

θw,f(v) = f(v)w (v ∈ V ).

>/�����$����� (w, f) �→ θw,f �	� &���������. �� ������ ���$ B : W ⊗ V ∗ →
Hom(V,W )� ������#���. B �	� 	��;�$��,�� ��� ��#��	���. B �	� �� �	�#��-
���	#�� 0� � ����	. ���� g ∈ G. w ∈ W �� f ∈ V ∗.

σ(g)θw,f = θρ(g)w,π∗(g)f = B(ρ(g)w ⊗ π∗(g)f).

*



H��	�. B ∈ Hom(ρ⊗ π∗, σ) �� B �	� �� �	�#�����	#�� �

!�����	�	�� �
 " ���� (π, V ) ��� 	��	�����
���� ���� �	���� ��� G� '��	��

��� �� ������ �� �	����� ��
�
�	� ��	������ ��	 V ��#
	�
�� ���� ��
����� �� G �

���� ���� ����
���
�� W ��#
	�
�� �
	 π 
���� �� ����������
�	� ��#
	�
�� �

����� �� V 	= 0� π ��� �"��#
����� � ��� ����� ��	���� �� 	��	�����
����� �		�

��������� �� G�

��	�
�����
�
 � "��� (·|·) �� ������� 	$������ ���#����� 	�� V � 0� ������

〈v1|v2〉 =
∑
g∈G

(π(g)v1|π(g)v2) (v1, v2 ∈ V ).

>� ������� 	$������ 〈·|·〉 $��,����� >� ����� 1�4 �	� ��#�����. �� ��	 ���
 �����	
�� ��$������� �

"� (π, V ) ��� �����	�������� �/�� ������G. �� ���� V G �/��	�#&�� ��	 �����	
�
�	 	��	 �/�$���� �� G�

!�����	�	�� �� " ���� (π, V ) ��� 	��	�����
���� ���� �	���� ��� G� �� ������
Pπ = 1

|G|
∑

g∈G π(g)� '��	��

��� Pπ ��� �� ���������� �� EndV �

���� ���	 ���� g ∈ G� π(g)Pπ = Pππ(g) = Pπ �

����� ImPπ = V G �

��#� 1
|G|

∑
g∈GTr π(g) = dimV G�

��	�
�����
�
 �

1�4 >� ��	����� ��	���� �� �� ����	���,��� �� �� ����	������ ���	 �� �������

1��4 0� ��#����� $� ����� �� �� #<#� '�I��  �� �� ���$������

1���4 ��##� Pπ �	� �� ���#������. ImPπ = {v ∈ V : Pπ(v) = v} �� �/���=	 ��
����� ���$�����.

ImPπ = V G.

1�,4 >� ���$� �/�� ���#������ �	� ����� 5 	�� ����. �/�@ �� ��	������ �

#�$�	�	�� " "��� (π, V ) ��� �����	�������� �� G� >� ��������� �� π �	� ��
'��$���� χπ : G→ C : g �→ Trπ(g)�

!�����	�	�� �� " ������ (π, V ) �� (ρ,W ) ���� 	��	�����
����� �� G� '��	��

��� χπ∗(g) = χπ(g−1)� ���	 ���� g ∈ G �

���� χπ⊕ρ = χπ + χρ �

����� χπ⊗ρ = χπχρ �

��#� �� π �� ρ ���� �"��#
������� χπ = χρ�

��	�
�����
�
 �

�!



1�4 "� B �	� ��� &�	� �� V �� B∗ 	� &�	� �����. �� #����$� �� π∗(g) ���	 ��
&�	� B∗ �	� �� ����	��	�� �� $���� �� π(g−1) ���	 �� &�	� B�

1��4 �� ����� �	� �,������

1���4 "� (π(g)ik)1�i,k�m �� (ρ(g)jl)1�j,l�n 	��� ��	 #����$�	 �� π(g) �� ρ(g) ���	
��	 &�	�	 B �� C ��	��$��,�#���. ����	 (π(g)ikρ(g)jl) �	� �� #����$� ��
π(g) ⊗ ρ(g) ���	 �� &�	� B ⊗ C� 0� � ���$

χπ⊗ρ(g) =
m∑
i=1

n∑
j=1

π(g)iiρ(g)jj =

(
m∑
i=1

π(g)ii

)⎛⎝ n∑
j=1

ρ(g)jj

⎞⎠ = χπ(g)χρ(g).

1�,4 "��� T ∈ Hom(π, ρ) ��,��	�&��� 0� � ����	 χρ(g) = Tr(Tπ(g)T−1) =
Tr(π(g)) = χπ(g)� �

(���� �� " ���� (π, V ) ��� 	��	�����
���� ���� �	���� ��� G� '��	��

��� χπ(1) = dimV �

���� χπ(g) = χπ(g−1)� ���	 ���� g ∈ G �

����� χπ(g) = χπ(hgh−1)� ���	 ���� g, h ∈ G�

��	�
�����
�
 �

1�4 �/�	� �,������

1��4 �/���=	 �� �����	����� �
. �� �
�	�� �� ������� 	$������ 〈·|·〉 ��,������ ��� π�
�=	 ���	. 	� (e1, . . . , en) �	� ��� &�	� ��������#�� ���� $� ������� 	$������.
�� � D

χπ(g−1) =
n∑
i=1

〈π(g−1)ei|ei〉 =
n∑
i=1

〈ei|π(g)ei〉 =
n∑
i=1

〈π(g)ei|ei〉 = χπ(g)

1���4 �� ����� ��	���� ��	 ���������	 �� �� ���$�� �
�����		��	 #��������� �� ������� 	$������ �� ���
 '��$����	 f1, f2 : G→ C ���

〈f1|f2〉G =
1
|G|

∑
g∈G

f1(g)f2(g).

%����&�� �' " ������ (π, V ) �� (ρ,W ) ���� 	��	�����
����� ���� �	���� ���
G� '��	�� 〈χρ|χπ〉G = dim Hom(π, ρ)�

��



��	�
�����
�
 � ���$����	 $� ������� 	$������ D

〈χρ|χπ〉G =
1
|G|

∑
g∈G

χρ(g)χπ(g)

=
1
|G|

∑
g∈G

χρ(g)χπ(g−1) 1�/���=	 �� ��##� ��4

=
1
|G|

∑
g∈G

χρ(g)χπ∗(g) 1�/���=	 �� �����	����� ��4

=
1
|G|

∑
g∈G

χρ⊗π∗(g) 1�/���=	 �� �����	����� ��4

=
1
|G|

∑
g∈G

Tr(ρ⊗ π∗)(g)

= dim (W ⊗ V ∗)G 1�/���=	 �� �����	����� ��4

�/���=	 �� �����	����� ��. �� �����	�������� ρ⊗π∗ �	� � ��,������ 5 �� �����	��-
������ σ 	�� Hom(V,W ) ������ ���

σ(g)(T ) = ρ(g)Tπ(g−1) (T ∈ Hom(V,W ), g ∈ G).

H��	�. T ∈ Hom(V,W ) �	� �� ����� �
� �� G 	�. �� 	����#��� 	�. T ∈ Hom(π, ρ)�
0� � ���$

dim (W ⊗ V ∗)G = dim Hom(V,W )G = dim Hom(π, ρ).

���� ��#����� �� �����=#�� �

�� �����=#� ��#��  ��� ��	 $���������	 D

!�����	�	�� �� " ���� (π, V ) ��� 	��	�����
���� ���� �	���� ��� G� �� (ρ,W )
��� 	��	�����
���� �		��������� ����� (� ����	� �� 	��	�����
����� �"��#
������
� ρ �
�� ��� ������������� �� π �� ����� �� 	��	�����
����� �		���������� ���
��
� � 〈χπ|χρ〉�

!�����	�	�� �* " ���� (π, V ) ��� 	��	�����
���� ���� �	���� ��� G� ��������
��� ������ (
 	��	�����
���� π ��� �		��������� ��� �� ��������� ��� 〈χπ|χπ〉 = 1�

!�����	�	�� �� " ���� (ρ1,W1), . . . , (ρh,Wh) �
 ����� ��� 	��	�����
����� �		�

��������� �� �	���� ��� G� )����� ni = dimWi �� ���	� �� ρi� �� 
 
��	�
|G| =

∑h
i=1 n

2
i �

��	�
�����
�
 � "��� �2(G) �/�	��$� ,�$������ ��	 '��$����	 	�� G 5 ,�����	 ���	
C� 0� ���� (λG, �2(G)) �� �����	�������� ������ ��� (λG(g)f)(x) = f(g−1x)� )�
$��	������� �� &�	� (δg)g∈G �� �2(G). �� �&�����  �� χλG = |G|δ1� 0� � ���$

〈χλG |χρi〉G =
1
|G|

∑
g∈G

|G|δ1(g)Tr ρi(g) = Tr ρi(1) = ni.

H��	�. χλG =
∑h

i=1 niχρi � )� �,������ $���� ������� �� �/��������. �� �&����� ��
��	����� �������� �

��



"��� X �� ��	�#&�� ��� �� G �� ������ ��� ���		��� 	�� X � 0� ���� �2(X)
�/�	��$� ,�$������ ��	 '��$����	 	�� X 5 ,�����	 ���	 C� 0� ���� (λX , �2(X))
�� �����	�������� ������ ��� (λX(g)f)(x) = f(g−1x)� "��� λ0

X �� ��	���$���� ��
	��	-�	��$� �� $�-��#��	��� �

W0 =

{
f ∈ �2(X) :

∑
x∈X

f(x) = 0

}
.

!�����	�	�� �� " �� G 
��� �� *
+�� 2
�	
�����#� ��	 X � 
��	� λ0
X ��� ��� 	��	�


����
���� �		��������� �� G�

��	�
�����
�
 � ��� 2-����	���,���. �/�$���� �� G 	�� X2 � 2 ��&���	. �� ���������
Δ �� 	�� $�#���#������� X2 \ Δ� ��##� ��	 ���#���	 �� �2(X2)G 	��� ��	
'��$����	 $��	�����	 	�� ��	 ��&���	 �� G. �� �

2 = dim �2(X2)
G

=
1
|G|

∑
g∈G

χλX2 (g) 1�/���=	 �� �����	����� ��4�

�� ���	. �/�	�#�����	#� 1��� ��#��	��� �� 	��;�$��,���4 �2(X)⊗�2(X) → �2(X2) :
f1 ⊗ f2 �→ f1f2 �	� �� #�����	#� ����� ��	 �����	��������	 λX ⊗ λX �� λX2 �
)���	 	��� ���$ � ��,������	. �/�@ χλX2 = χ2

λX
� H��	�.

2 =
1
|G|

∑
g∈G

χ2
λX (g)= 〈χλX |χλX 〉G

$�� �� �	� $����  �� χλX �	� 5 ,�����	 ������	� �� ���	. �� �����	�������� λX 	�
��$�#��	� �� 	�##� ����$�� �� λ0

X �� �� �� �����	�������� �� ����� 1 	�� ��	
'��$����	 $��	�����	 	�� X � 0� � ���$ χλX = χλ0

X
+ 1� "� �/�� ��;�$�� $��� ���	

�/������� ���$������. �� �&�����

1 = 2〈1|χλ0
X
〉G + 〈χλ0

X
|χλ0

X
〉G.

�/�@. ��$�		����#���. 〈χλ0
X
|χλ0

X
〉G = 1 �� λ0

X �	� ������$��&��� �

� �	��� �� PSL2(Fq)

��� ���������	 �� ������ PSL2(K)

�� ���������� � ���� �&;�� �� #������  ��� ��	 ���������	 �� PSL2(K).  ����
K �	� �� $���	 $�##�����'  ���$�� ���

!�����	�	�� �� " PSL2(K) � PGL2(K).

��	�
�����
�
 � "� �/�� ���� S �� 	��	-������ �� K× $�#��	� ��	 $����	. �� �
PSL2(K) = ker(det). �@ det : PGL2(K) → K×/S �	� �� #�����	#� ������ ���
det : GL2(K) → K×� �

�




)� �����$�����. $��� �#��� ��  �� ���� $�����#��� �� ���=�� ���;�$��' �� P1(K)
���		� PSL2(K) ��,������� ��� �� 	����. �� �����	��� $� ��	����� �� '�I�� �#���$����

(���� �
 " ���� K �� ��	��� �� a1 �� a2 ���� ������ �� P1(K)� �� H ��� ��
����
�	���� �� PSL2(K) ������
�� ���� ��� �������� �� PSL2(K) 
 
�� a1 ��
a2 ���	 ���"�� ����� ���� 
��	� H = PSL2(K)�

��	�
�����
�
 � L �� $�����#��� �� ���=�� ���;�$��' ��=	. �� ���� 	����	��
 �� a1 = 0 �� a2 = ∞�

"���

(
a b
c d

)
∈ PSL2(K)�

"� c 	= 0. H �
(

1 a−1
c

0 1

)(
1 0
c 1

)(
1 d−1

c
0 1

)
=

(
a ad−1

c
c d

)
=

(
a b
c d

)
�

"� c = 0 ����	 d 	= 0 �� ���	 $� $�	. �/���=	 �� ����� ���$������.

(
a+ b b
d d

)
∈ H

���$

(
a b
c d

)
=

(
a+ b b
d d

)(
1 0
−1 1

)
∈ H � �

%����&�� �� " �� K ��� �� ��	�� �� �
	���
� 4 �� 
� ����� ��
� � 6†� 
��	�
PSL2(K) ��� �������

��	�
�����
�
 � C� 	�M� �� #������  �� ���� 	��	-������ ��	������H �� SL2(K)
��� $������ ���	 {± Id} �	� ���� 5 SL2(K) ���� �������
"��� A ∈ H \ {± Id} �� v ∈ K2 ���  �� (v,Av) 	��� ��� &�	� �� K2�

���	 $���� &�	�. A 	/�$���

(
0 −1
1 α

)
$�� detA = 1�

��##� K = F4 �� |K| � 6. �� �
�	�� �� ���#��� β �� K∗ ���  �� β4 	= 1� ��##�
H � SL2(K).

H �
(
β 0
0 β−1

)−1

A−1

(
β 0
0 β−1

)
A =

(
β−2 α(β−2 − 1)
0 β2

)
= B

���	. ���� μ ∈ K D

H �
(

1 μ
β4−1

0 1

)−1

B−1

(
1 μ

β4−1

0 1

)
B =

(
1 μ
0 1

)
)� ��	���� D

H �
(

0 −1
1 0

)(
1 −μ
0 1

)(
0 −1
1 0

)−1

=
(

1 0
μ 1

)
>� ��##� �
 ���#�� �� $��$����� �

!�����	�	�� �� " �� K ��� �� ��	�� ������
��*� ���� ������� �� PSL2(K) 

�� ����	
���
���	 
�������

†���
 �� ���	�� 
���� �
��� �����
��� ���� F5� �
�� �� �����	
	 ����	������
�
 �
� 

�� �


���	��

��



��	�
�����
�
 � 6��� �/�&���. ��#�� ���	  �� ���� �����N#� �� 	�$��� �����
	�� K 	� 	$���� 	�� K. $�N���� ����&�� �� �� K‡� "��� ���$ A �� ���#��� ��
PSL2(K)� ���	 P1(K). A � ����	 �� �� ���
 �����	 �
�	� ���	 ��	 ���
 $�	. ��
���� 	����	��  �� A �
� ∞�
O "� A �/�  �� ∞ $�##� ����� �
�. ����	 ���	 ��	 ���#���	 �� 	�� $�������	�����
���	 PSL2(K) ��� ∞ $�##� ����� �
�� H��	�. A �	� ��� ����	������ �� K ⊂
P1(K) �� 	�� $�������	����� ���	 PSL2(K) �	� $�#��	� �/�����$�����	 �M��	
�� K� 0� �� ������ '�$���#���  �� �� $�������	����� �� A ���	 PSL2(K) �	�
�� ������ ��	 ����	������	 �� K.  �� �	� �&������ 0� $��$��� �##������#���
$�� �� $�������	����� �� A ���	 PSL2(K) �	� �� 	��	-������ �� $�������	�����
�� A ���	 PSL2(K)�

O "� A � �� ���
�=#� ����� �
�. �� ���� 	����	��. 5 $�����#��� �� ���=��
���;�$��' ��=	.  �� $/�	� 0 �� ��� $��	� ����  �� A �	� ��� ��#������� ��
K ⊂ P1(K)� "� �� ���#��� �� $�������	����� �� A ���	 P1(K) �$�������� 0 ��
∞. $� 	����� ��� ��,��	��� �� $����� 0.  �� �� $�##������� ��	 �,�$ A� ���$
��	 ���#���	 �� $�������	����� �� A ���	 P1(K) ��� 0 �� ∞ $�##� �����	 �
�	
�� $� 	��� ��	 ��#�������	 �� P1(K) �� �����#����� 1 1���� $����	 �� �������
$����4  �� '��#��� �� ������ �&������ �

��
 ���������	 �� ������ PSL2(Fq)

���	 $� ����������. �� �������� �� �����$����� ��	 ���������	 ��	 	��	-
������	 �� PSL2(Fq).  ���� q �	� �� ��#&�� ���#����

(���� �� " �� q ��� �	����	� �� g ∈ PSL2(Fq)� ��� 
���	����� ���#
���� ����
�"��#
������ %

�� g ��� ���	�	� q �

��� g 
���� �� ���"�� ����� ��� �

���� �
�� �� ��	�
�� 	��,	� �	�-����*� g ��� ��� �	
���
���� �� Fq ⊂ P1(Fq)�

��	�
�����
�
 �

�4 ⇒ ��4 >/�����$����� g ���� $�##� ��� ���#������� �/����� ���#��� q 	��
P1(Fq)� >�	 ��&���	 �� $���� ���#������� 	��� ���$ �� �������� q �� 1�
��##� g 	= 1. g � ��� ��&��� �� �������� q �� ��� ��&��� �� �������� 1.
$�  �� #����� �� ��	������

��4 ⇒ ���4 L �� $�����#��� �� ���=�� ��=	. �� ����� �
� �� g �	� ∞� H��	�. g
���� ����	 	�� Fq ⊂ P1(Fq) $�##� ��� �����$����� �M�� ��� $��	����� ��
	��	 ����� �
�. $/�	�-5-���� ��� ����	�������

���4 ⇒ �4 �/�	� �,������ �

(���� �' " �� G ��� �� �	���� ��� �� �� �� ����	
���
���	 �� ���� �������
��	� �� ����	� Z �� G ��� 
������� 
��	� ������	������� �� ���� ����
�	����� ��
G 
������� �
���
�� ��������� ��� Z�

��	�
�����
�
 � ?����	  �� ���� 	��	-������ �&����� #�
�#�� �� G $�������

‡�� K = Fq �� q ��	 ��� �����
��� 
��� ������ �������� �� ���	 �����
��� K �
� Fq2 �

��



Z� "� J �� K 	��� ��	 	��	-������	 �&�����	 #�
�#��
 �� J ∩ K 	= Z �� 	�
g ∈ (J ∩K) \ Z. J �� K 	��� ���	 ���
 ��$��	 ���	 �� $�������	����� �� g  ��
�	� ��� ������=	� �&������ ��� #�
�#�����. J �� K 	��� ����
 �� $�������	�����
�� g ���$ J = K� �

(���� �� " �� q ��� �� ����	� �	����	 ���
�	 �� H �� ����
�	���� ��
PSL2(Fq) ��� "�� q � |H | 
��	� ���� ����
�	���� 
������ �
���
� �� H ���
�������� 
� ���� 2 �
�� ��� ��	�
���
���	�

��	�
�����
�
 � "��� J �� 	��	-������ �&����� #�
�#�� �� H �
0� ���� &��� 	J� 	����	��  ��H �	� ��� ���,��� ��  �� A ∈ J �/�	� ��	 �/���������
��##� ���� �� �����	����� ��. �� ������� A $�##� ���#��� �� PSL2(Fq2)�
���	 Fq2 . A ��#�� ����	 �� �� ���
 �����	 �
�	� 0� 	����	�  �� A �
� ∞�
"� A �,��� �� 	��� ����� �
�. $� 	����� ��� ����	������ �� Fq2 ⊂ P1(Fq2) �� q
��,�	����� �/����� �� A. $�  �� $����������� q � |H |�
���$ A � �� 	�$��� ����� �
�.  �� ���� <��� ��,��� ��� $�����#��� �� ���=��
���;�$��' 	�� 0� �=	 ���	. A �	� ��� ��#������� �� Fq2 ⊂ P1(Fq2)� ��##� J
�	� �&�����. ���	 	�	 ���#���	 �
��� {0,∞}� >�	 ���#���	 ��,��	��� 0 �� ∞ 	���
��	 ��,��	���	  �� �� $�##����� ���$ ��	 �,�$ A� J �� $������� ���$  �� ��	
��#�������	 �� Fq2 ⊂ P1(Fq2)�
���� ���� ���#��� B �� ���#���	����� �� J . AB{0,∞} = BB−1AB{0,∞} =
B{0,∞} $�� B−1AB ∈ J �� ���$ B({0,∞}) ⊂ {0,∞} ���	 ��� $����������.
B{0,∞} = {0,∞}� >/�����$����� $����� �� �� NH(J) ���	 S({0,∞}) ��#��
����	 $�����#��� J ���� ����� 1$�� J �	� �&����� #�
�#��4. $�  �� �$�=,� ��
��#��	�������� �

#�$�	�	�� " +� ������ G �	� ��� 	������
�
 	/�� ��#�� �� 	��	-������ ��	-
������ H ���  �� H �� G/H 	����� �&�����	� )� �����$�����. �� ��� ������ �	�
��	���&���

!�����	�	�� �* " ���� G �� �	����� (�� �	��� 
���	����� ���#
���� ���� �"��#


������ %

�� G ��� ���
������ �

��� (� �	���� ��	�#� �� G ��� 
������ �

���� ∀a, b, c, d ∈ G, [[a, b], [c, d]] = 1†� �

%����&�� 
� " �� q ��� �	����	� ��� ����
�	����� ��	���� �� PSL2(Fq) ������
��
��	�������� ���� �� 60 �������� ���� ���
�������‡�

��	�
�����
�
 � "���H �� 	��	 ������ 	���$� �� PSL2(Fq) ��		����� 	���$��#���
���	 �� 60 ���#���	�
��	�������	 ���
 $�	 D
O "� q | |H |. ����	 H $������� �� #���	 �� 	��	-������ �/����� q� "����	��	
��� �/�&	����  �/�� �� $�������� ���	 �/��� ���	 $� $�	. �/���=	 �� ��##� ��.

†[x, y] = xyx−1y−1

‡�� ��
��	�� ��� ����� ������������ �	���	� 
� PSL2(Fq) ��� ��	
������� ���	 S4 �	 A5�

��



�� �
�	������ a1 �� a2 ���	 PSL2(Fq) ���	  �� H $�������� ���	 ��	 ���#���	
����� ���� ��� �� ����� �
� a1 �� a2. 	� &���  �� H 	����� PSL2(Fq) �/���=	
�� ��##� �
�
"��� ����	 H0 �/��� �� 	��	-������ �/����� q �� H � L $�����#��� �� ���=��
���;�$��' ��=	. H0 �	� �� ������ ��	 ����	������	 �� P1(Fq) �� � ∞ ���� �����
�
�� ��##� H0 �	� ��	������ ���	 H . H �
� ��		� ∞ �� H �	� ����	 $������
���	 �� ������ ��	 �����$�����	 �M��	 �� Fq ⊂ P1(Fq).  �� �	� #���&����� 1	��
������ ����,� �	� �/��	�#&�� ��	 ����	������	 �� Fq4� ���$ H �	� #���&������

O "� q � |H | ����	. ��� $����������. q � 7 �� �� �����$�����. q �	� �#����� "���
h = |H |� "����� C1, . . . , Cs ��	 $��		�	 �� $��;����	�� ��	 	��	-������	 �&�����	
#�
�#��
 �� H ����
 5 ����	 ���#���	�����	 �� Cs+1, . . . , Cs+t $����	 ��	
	��	-������	 �&�����	 #�
�#��
 �� H �/����$� 2 ���	 ����	 ���#���	�����	
1�/���=	 �� ��##� ��. $� 	��� ��	 	���	 $�	 ��		�&��	4� "��� ���� gi �� $�������
$�##�� ��	 ���#���	 �� Ci�
6���A ∈ H ��G����� �� �/�������� �	� $������ ���	 �
�$��#��� �� 	��	-������
�&����� #�
�#�� �/���=	 �� �����	����� �� �� �� ��##� �( �� ��� $��	� ����.

|H | = 1 +
s+t∑
i=1

∑
J∈Ci

(|J | − 1).

���	. �� ��#�� ����  �� 	�H ���� 	�� Ci ��� $��;����	��. J ∈ Ci � ���� ��&���
Ci �� ���� 	��&���	�����N(J) �� ��� $��	� ����  �� ∀J ∈ Ci, |H | = |Ci||N(J)|

1 =
1
|H | +

s+t∑
i=1

∑
J∈Ci

|J | − 1
|H | =

1
h

+
s+t∑
i=1

∑
J∈Ci

|J | − 1
|Ci||N(J)|

=
1
h

+
s+t∑
i=1

∑
J∈Ci

|J | − 1
|Ci||J |[N(J) : J ]

=
1
h

+
s∑
i=1

gi − 1
gi

+
s+t∑
i=s+1

gi − 1
2gi

.

���$.

1 =
1
h

+
s∑
i=1

(
1 − 1

gi

)
+

1
2

s+t∑
i=s+1

(
1 − 1

gi

)
� 1
h

+
s

2
+
t

4
.

C� � � ����	 � ��		�&�����	 D

�4 "� s = 1 �� t = 0. H �	� �&�����. �/�@ �� ��	������

�4 "� s = 1 �� t = 1. �� ���� �$���� �� �������� ���$������ $�##� $�$� D

1 =
1
h

+ 1 − 1
g1

+
1
2
− 1

2g2

�/�@ D

1 +
2
h

=
2
g1

+
1
g2

��##� g1 < h. g2 � 2 �� ����	 1
2 <

2
g1
� ���$ 2 � g1 � 3� "� g1 = 3. ����	

1
3 < 1

g2
�� g2 = 2 ���	 h = 12. $�  �� $�������� h > 60� ���$ g1 = 2�

H���	. $�##� g2 = h
2 . H ��#�� �� 	��	-������ �&����� �/����$� 2. $�

 �� #����� �� ��	������

�(




4 "� s = 0 �� t = 1. �� �������� ��,���� D

1 =
1
h

+
1
2

(
1 − 1

g1

)
��$� $�������� �� '���  �� h > 60�

�4 "� s = 0 �� t = 2. ����	 D

1 =
1
h

+
1
2

(
1 − 1

g1
+ 1 − 1

g2

)
��$� $�������� �� '���  �� g1 < h �� g2 < h�

�4 "� s = 0 �� t = 3. �� ,����  �� D

1 =
1
h

+
1
2

(
1 − 1

g1
+ 1 − 1

g2
+ 1 − 1

g3

)
0� ��$��� D

1 +
2
h

=
1
g1

+
1
g2

+
1
g3

"� �� 	����	�  �� g1 � g2 � g3. �� �&����� ���� �� 	����  �� g1 = 2
���	 2 � g2 � 4� "� g2 = 2. g3 = h

2 �� H $������� �� 	��	-������ �&�����
�/����$� 2�
"� g2 = 3. 1

6 + 2
h = 1

g3
. $�  �� �	� �#��		�&�� ���	 �� h > 60 1 1

6 <
1
g3
<

1
6 + 2

60 = 1
5 4�

"� g2 = 4. 1
4 + 2

h = 1
g3
. $�  �� �	� ��		� �#��		�&�� ���	 �� h > 60

1 1
4 <

1
g3
< 1

4 + 2
60 <

1
3 4�

���� $��$��� �� ����,�� �

��� �����	��������	 �� PSL2(Fq)

"��� q � 7† �� ��#&�� ���#���� ��#������	 �� �����=#� 	��,����

%����&�� 
� " (� ���	� �� ����� 	��	�����
���� ��� �	�#�
�� �� PSL2(Fq) ���

� ����� q−1

2 �
?����	 B �� ������ ��	 ����	'��#�����	 �M��	 �� Fq. ���� ��	 z �→ az + b

���� a ∈ F×
q �� b ∈ Fq� 0� $��	��=��. $�##� ���	 �� ������ 
 1���� �
4. ��

�����	�������� λFq �� B �� 	� 	��	-�����	�������� λ0
Fq

	��

W0 =

⎧⎨⎩f ∈ �2(Fq) :
∑
z∈Fq

f(z) = 0

⎫⎬⎭ .

(���� 
� " (
 	��	�����
���� λ0
Fq

��� �		���������� �� ���	� q − 1�

��	�
�����
�
 � �/���=	 �� �����	����� ��. �� 	�M� �� #������  �� B ���� ��

†�� 	������� ��	 ��
� 

�� �� �
� q = 5� �
�� �� �	����� �� �����	
	 
� �
 �������	���  ! ����

F5� "�� ���� �� 
����	�� �
�� �
� �� ����	�������
 
� ������	����	 
�#��	�	�"��� "�
�
 p
��	 $%� �	 q 
�����	 ��
�
�

��



'�I�� 2-����	���,� 	�� Fq� ���� ��,���� 5 #������  �/�� �
�	�� ��� ������ �M��
������� ���
 �����	  ���$�� ��	 �� F2

q. $�  �� �	� �,������ �

"��� #��������� B0 �� 	��&���	����� �� ∞ ���	 PSL2(Fq). $/�	�-5-���� �� 	��	-
������ �� B $�#��	� ��	 z �→ az+b �@ a �	� �� $���� 1��� ���4� H��	�. B0 �	� ��
	��	-������ �/����$� 2 �� B� "��� α �� #�����	#� �� ������ (z �→ az + b) �→ a�

>� �����	����� 	��,���� ���		� �� ��	�� ��	 �����	��������	 ������$��&��	 ��
B0�

!�����	�	�� 

 " (� �	���� B0 
���� q+3
2 	��	�����
����� �		����������� 	��
	


���� �� %
. q−1

2 ��	������� �� B0 �
�� C×� *
���	��
���� �
	 α �
. 2 	��	�����
����� ρ+ �� ρ− �� ���	� q−1

2 �

��	�
�����
�
 � >� ������ ��	 $����	 �� Fq ����� �� ������ �&�����. 	�	 �����-
	��������	 ������$��&��	 	��� ��$�		����#��� �� ����� 1 1�� �����	��� �/�
�	���$�
�� ,�����	 ������	 	�� C4� �/���=	 �� �����	����� �!. �� � �� � �
�$��#��� q−1

2 �
��##� α �	� 	��;�$��,�. �� �&�����. �� ��	 $�#��	��� 5 ������ ��� α. q−1

2 ��-
���	��������	 ��	���$��	 ������$��&��	 �� B0 ���	 C×�
"��� ω = e2iπ/q� 0� ������. ���� ���� c ∈ Fq

ec : Fq → C : n �→ ωcn.

>�	 (ec) 	��� ����������
 �� 	��	 �� ������� 	$������ 	�� �2(Fq). �� �� '��#���
���$ ��� &�	�� �� ���	. ��	 (ec) ���� c ∈ F×

q '��#��� ��� &�	� �� W0. �� �/��
���� W+ �� W− ��	 	��	-�	��$�	 �� W0 ��������	 ��	��$��,�#��� ��� ��	 (ec)
���� c $����. �� ��	 (ec) ���� c ��� $����� 0� ,����� '�$���#���  �� W+ �� W−
	��� 	��&��	 	��	 �/�$���� �� B0� ��	 ���
 �	��$�	 	��� �� ��#��	��� q−1

2 � 0�
��	� ���$ ρ+ �� ρ− ��	 ��	���$����	 �� λ0

Fq
|B0 5 W+ �� W−�

"� g ∈ B \B0. λ0
Fq

(g) �$����� W+ �� W−� 0� �� ������  ��

χλ0
Fq

(g) =
{
χρ+(g) + χρ−(g) 	� g ∈ B0;
0 	�����

��##�. �/���=	 �� ��##� 
�. λ0
Fq

�	� ������$��&��. �� $��$���  ��

1 = 〈χλ0
Fq
|χλ0

Fq
〉B =

1
2
(〈χρ+ |χρ+〉B0 + 2 Re〈χρ+ |χρ−〉B0 + 〈χρ− |χρ−〉B0).

0� �� �����=#� �( �		���  �� ��	 ��#&��	 〈χρ+ |χρ+〉B0 . 〈χρ+ |χρ−〉B0 �� 〈χρ− |χρ−〉B0

	��� ��	 ������	 ��	���'	. �,�$ 〈χρ+ |χρ+〉B0 �� 〈χρ− |χρ−〉B0 > 0� 0� � ���$ �-
����#��� 〈χρ+ |χρ+〉B0 = 〈χρ− |χρ−〉B0 = 1 �� 〈χρ+ |χρ−〉B0 = 0� ���� $��$��� ��
��#��	������� $�� �� '��#��� ��	 �����	. ���&��� ���	 �� �����	����� �!. #�����
 �� �/�� � ���	� ����,� �����	 ��	 �����	��������	 �� B0� �

)���. 	��� π ��� �����	�������� ��� ���,���� �� PSL2(Fq) �� ����� n� �/���=	
�� �����	����� �
. 	� ��	���$���� 5 B0 	� ��$�#��	� �� 	�##� �� �����	��������	
������$��&��	 �� B0� �� ���	. $�##� q � 7. PSL2(Fq) �	� 	�#���. ��� �� �����-
	����� ��� >� �����	�������� π|B0 ���� ���$ <��� ��=��� 0� �� ��	�� ���&��� ���	 ��
��##� 

 #�����  �� �����	 ��	 �����	��������	 �� ����� 1 	��� ���,����	 	�� ��
������ ����,� �� B0. $�� ����	 	��� '�$����	�&��	 ��� α� >/��� �� #���	 ��	 ���


�*



�����	��������	 ������$��&��	 �� B0 �� ����� q−1
2 ���� ���$ ������P��� ���	 ��

��$�#��	����� �� π|B0 . 	� &���  �� n � q−1
2 � ���� $��$��� �� ��#��	������� ��

�����=#� 
��

�  ��	���
���

��� ��������� ��	 ����������	

#�$�	�	�� " "��� A �� ������� >/���=&�� ��	 ������

�
� 	�� A. ����� H(A).
�	� �� A-#����� ��&�� �������� ��� ��	  ����� ���#���	 1. i. j �� k.  �� �/��
#���� �� �� 	���$���� �/���=&�� ������ ��� D

1�4 1 �	� �� ������ ���� �� #�������$����� K

1��4 i2 = j2 = k2 = −1 K

1���4 ij = −ji = k. jk = −kj = i. ki = −ik = j�

0� $��	����  �� �� $��;����	�� �/�	� ��	 �� ����#�����	#�� )� ��,��$��. ��

��	�. ������ ���N(q) = qq. �	� #�������$���,�. ��� �� �N(q1q2) = N(q1)N(q2)�

!�����	�	�� 
� " ���� A �� 
���
� �
�� ��"��� 4 ����� �
� �� ��#����	 �� /�	��
���� ������ x, y ∈ A ���� "�� x2 + y2 + 1 = 0� 
��	� H(A) ��� �����	��� � ���
����

��,�	� �� M2(A)�

��	�
�����
�
 � ��	��	

1 =
(

1 0
0 1

)
, i =

(
x −y

−y −x
)
, j =

(
0 1

−1 0

)
, k =

(
y x
x −y

)
.

H��	�. ��	 ���������	 1�4. 1��4 �� 1���4 �� �� ��������� ���$������ 	��� ,������	�
��	�� 5 ��#������  �� �� #����� �	� ��&��. ����  �� 1. i. j �� k 	��� ��������#���
������������	� ���� ��,���� 5 ,������  �� �� �����#����� 	��,��� �	� ��� ���
���	 �� $���	 ��	 '��$����	 �� A D∣∣∣∣∣∣∣∣

1 x 0 y
0 −y 1 x
0 −y −1 x
1 −x 0 −y

∣∣∣∣∣∣∣∣ = −4(x2 + y2) = 4.

�� �� � ;�	��#��� 	����	�  �� 4 �/����� ��	 �� ��,�	��� �� 8���� ���� ��#�����
�/��;�$���� ��������� �

?����	  �� ���	 �� $�	 �@ �/��;�$���� �	� ��		�&��. �� ���#� �/��  ���������
�	� ����� �� �����#����� �� �� #����$� �		�$����

!�����	�	�� 
� " ���� q ��� �����
��� ���� ����	� �	����	 ���
�	� '��	� ��
������ x, y ∈ Fq ���� "�� x

2 + y2 + 1 = 0�

��	�
�����
�
 � 0� ����  �/�� � � (q + 1)/2 $����	 ���	 Fq� �=	 ���	. ��	 ���

��	�#&��	

A+ = {x2 + 1 : x ∈ Fq} �� A− = {−y2 : y ∈ Fq}

�!



�� 	��� ��	 ��	;����	. �/�@ �� ��	������ �

?��	 �����	����	 ��	  ���������	 	�� �/������ Z/nZ� ?��	 �����	 ���$ &�	���
�� �� ��������� 	��,�����

!�����	�	�� 
� " ���� n �� �����	 ���
�	� 0� ������ x, y ∈ N ���� "�� x2+y2+1 ≡
0 (mod. n)� 1� �
	�������	� H(Z/nZ) ��� �����	��� � ��
��,�	� M2(Z/nZ)�

��	�
�����
�
 � �/���=	 �� �����=#� ��	 ��	��	 $�����	. �� ���� 	� ��#���� ��
$�	 �@ n = pα. �,�$ p ���#��� �� α ∈ N∗� ���$����	 ��� ��$�����$� 	�� α�
"� α = 1. �� �����	����� ���$������ ���#�� �� $��$�����
"����	��	 α > 1� ��� ������=	� �� ��$�����$�. �� �
�	�� x, y ∈ N ���	  ��
x2 + y2 + 1 ≡ 0 (mod. pα−1)� %����� 5 �$������ x �� y. �� ���� 	����	��  ��
x 	≡ 0 (mod. p)� "� �/�� ���� Q(X) = X2 + y2 + 1. �� � �� ��,������#��� ��
6����� D

Q(x+ λpα−1) = Q(x) + λpα−1Q′(x) +
1
2
λ2p2α−2Q′′(x).

>� ������� ���#� �	� ��$�		����#��� ������ �� ��,�	�&�� ��� pα. 	� &���  �� Q(x+
λpα−1) ≡ Q(x) + λpα−1Q′(x) (mod. pα)� H��	�. �� $���$�� λ ���  ��

Q(x) + λpα−1Q′(x) ≡ 0 (mod. pα)

Q(x)
pα−1

+ λQ′(x) ≡ 0 (mod. p)

��##� �� � 	����	� x 	≡ 0 (mod. p). �� $�##� p �	� �#����. Q′(x) �	� ��-
,��	�&��� 0� � ���	� ����,� �� λ  �� $��,�����. �� �� �
�	�� ���$ x ���  ��
Q(x) ≡ 0 (mod. pα). $�  �� ����� �� ��	����� ��������
)���. �� 	���  �� ���	 $�	 $��������	. H(Z/nZ) 	/��;�$�� ���	 M2(Z/nZ)� ��	
���
 ���=&��	. ����� #<#� $�������. 	��� �	�#�����	� �

!�����	�	�� 
' " 2��� "�
��	���� α ∈ H(Z) ��� ��#�	����� ��� �	����� ��
"�
��	����� �		�����������

��	�
�����
�
 � "��� α ∈ H(Z)� ��#������	 �� ��	����� ��� ��$�����$� 	��N(α)�
"� N(α) = 1. α �	� ��,��	�&��� "� #��������� α �/�	� ��	 ������$��&��. 	��� β �� γ
��� ��,��	�&��	 ���	  �� α = βγ� ��� ������=	� �� ��$�����$�. $�##� N(β) ��
N(γ) 	��� 	���$��#��� ��'������	 5 N(α). �� $��$���  �� β �� γ 	� ��$�#��	���
�� ������� �/������$��&��	. �� ���$ α ��		�� �

C� �/� � ��	 ���$��� �� $���� '�$����	������

��
 ��  �	 �� ������ !����	

"��� p �� ��#&�� ���#���� 0� 	/������		� 5 �/� ������ a2
0 + a2

1 + a2
2 + a2

3 = p.
�,�$ a0, a1, a2, a3 ∈ Z� �/���=	 �� �����=#� 	��,���. ��#����� ��� Q�$�&�. ����
��		=�� 8(p+ 1) 	�������	�

%����&�� 
� " ���� n �� �����	 ���
�	 ������*� '��	�� �� ����	� �� ���������
�� a2

0 + a2
1 + a2

2 + a2
3 = n� 
#�� a0, a1, a2, a3 ∈ Z� ��� 8

∑
d|n d�

��



���	 �� $�	 ��	 	�##�	 �� ���
 $����	. �� �����	� �� '�$��������� �� Z[i] ����
�&�����  �� �� ��#&�� �� ��$�#��	����� �/�� ������ n 	���$��#��� ��	���' ��
	�##� �� ���
 $����	 1�/������	 �����
��4 �	� ���� 5 4(d1(n) − d3(n)). �@ di(n)
�	� �� ��#&�� �� ��,�	���	 �� n $�����	 5 i #����� 4� >/������ H(Z) �/�����
��	 '�$������ K ���� ��#������ �� �����=#� 
�. �� ��������� �� ���,�� �������

#�$�	�	�� " 0� ������� �

��� ��� ������

�
� ������
� �/��	�#&��

H̃(Z) = H(Z) ∪
(

1 + i+ j + k

2
+ H(Z)

)
.

!�����	�	�� 
* " (�� "�
��	����� ��3�	4��/ *�	���� �� 
���
�� "�� ��� ��

������� �� �
���� ����� � �	������

��	�
�����
�
 � 0� ,����� '�$���#���  �� $�� ��	�#&�� �	� �� ������� 9��-
����	  �/�� �	� ��$������� "� z1, z2 ∈ H̃(Z). �� 	/���� �� #������  �� �� ��	���$� ��
q = z1z2

−1 1�� z2−1z14 �� ��	��� ��	 �����	 ������	 �� ��#�-������	 �� R4 �	�
	���$��#��� ��'������� 5 1� 0� �� ��	���$� �� q �� ��	��� ��	 �����	 ������	 ��
R4 �	� ���;���	 ��'������� 5 1. �� �/������� �/�	� ,������  �� 	� q �	� ��#�-�������
���� ��#�����  �� �� ��	���$� �� q �� ��	��� ��	 �����	 ������	 �� ��#�-������	
�� R4 �	� 	���$��#��� ��'������� 5 1� H��	�. H̃(Z) �	� ��$������ 5 ���$�� $�##�
5 ������� �

0� $���$�� �� ��#&�� �� '�$����	�����	 �� n 	��	 �� '��#� n = zz. �,�$
z ∈ H(Z)� C� � � ���
 '��	 ���	 �� �����	 '�$����	�����	 ���	 H̃(Z)� )� �G��.
	����	��	  �� n = zz. �,�$ z ∈ H̃(Z) \ H(Z)� "� �/�� ���� α = 1+i+j+k

2 ��
z = a+ib+jc+kd

2 �� �	� ���	 �/�� ��	 ���
 $�	 	��,���	 D

αz ∈ H(Z) 	�. �� 	����#��� 	�. a− b− c− d ≡ 0 (mod. 4) ;
αz ∈ H(Z) 	�. �� 	����#��� 	�. a+ b+ c+ d ≡ 0 (mod. 4).

���� ��	���� �� '���  �� a. b. c �� d 	��� �#����	� ��##� α �	� ��,��	�&��. �� �
��� &�;�$���� ����� ��	 	�������	 ���	 H(Z) �� $����	 ���	 H̃(Z) \ H(Z)� C� 	/����
���$ �� #������  �/�� � � 16

∑
d|n d �����	 '�$����	�����	 ���	 H̃(Z)�

���� ��,���� 5 $�#���� ��	 �����
 5 ������ �� ���#� n2. �@ �� ���#� �/��
����� I �/�� ������ A �	� ������ $�##� 	����

!�����	�	�� �� " �� I ��� �� ���
� ���� 
���
� A� �
 ��	�� �� I ��� N(I) =
|A/I|� 5
�� �� �
� �� H̃(Z)� "�� ��� �	�����
� � �	����� �� I = (z) = zH̃(Z)� �� 


N(I) = N(z)2.

��	�
�����
�
 � H̃(Z) �	� �� Z-#����� ��&�� �� ��#��	��� � ���� ��� &�	� �	�
(α, i, j, k)� ���� $��$���� �� ���#� �� �/����� I. �� �����	� ��	 ��	�����	 	�� ��	
#�����	 	�� ��	 ������
 ����$����
� 0� � ���$

N(I) = det(x �→ zx).

��



�� �����#����� �	� �� #<#�  �� $���� �� �/�����$����� x �→ zx 	�� H(R). $�� ���
&�	� �� H̃(Z) �� �	� ��� �� H(R). 	� &���  �� �/�� ���� $��$���� $� �����#�����
���	 �� &�	� (1, i, j, k)� H��	�. 	� z = a+ ib+ jc+ kd.

N(I) =

∣∣∣∣∣∣∣∣
a −b −c −d
b a −d c
c d a −b
d −c b a

∣∣∣∣∣∣∣∣ = (a2 + b2 + c2 + d2)
2

= N(z)2.

�

0� ������ Jn �/��	�#&�� ��	 �����
 5 ������ �� ���#� n2� ��##� �� � � 16
��,��	�&��	 ���	 H̃(Z) 1�/��	�#&�� ��	 ���#���	 �� ���#� 1. 5 	�,��� 1. i. j. k.
α. iα. jα. kα �� ����	 ����	�	4. �� � � 16 '��	 ���	 �/���#���	 �� ���#� n  ��
�/�����
 ���	 Jn� 9������	 ���$  �� |Jn| =

∑
d|n d� ���	 �� 	����. ��	 �����


$��	�����	 	����� ���;���	 ��	 �����
 5 �������
������#���. �� ���#� ��	 �����
 �	� ��,������� ��� ��		��� ��  �������. ��

$�##� ��	 �����
 �� H̃(Z) $�������� n 	��� �� &�;�$���� �,�$ $��
 �� H̃(Z)/(n).
�� �	� ��#��� �� $�	 ��	 �����
 �� H̃(Z)/(n) = H̃(Z/nZ) = H(Z/nZ). $����
������� ��$������ �� '���  �� 2 �	� ��,��	�&�� ���	 Z/nZ� E�����#���. �/���=	
�� �����	����� 
�. �� 	/���� �� ����#&��� ��	 �����
 �� M2(Z/nZ) �� ���#� n2.
���$ ��	 �����
 �� M2(Z) $�������� n Id �� �� ���#� n2�

>� �����	����� 	��,���� ����� ��� $���$����	����� ��	 �����
 5 ������ ��
M2(Z)�

!�����	�	�� �� " (�� ���
�� � �	���� �� M2(Z) ���� �� ��-������ 
#�� ���
	���
�� �� Z2� �
	 ��
�����
���� "��� � �� ���
� I �� M2(Z)� 
������ �� 	���
�

Im(I) = {M(x) : M ∈ I, x ∈ Z2}

�& (e1, e2) ��� �
 �
�� �
����"�� �� Z2� 5� ����� �� 
 
��	� "��N(I) = vol(Im(I))2�

��	�
�����
�
 � ����� �����$����� �	� &��� 	��;�$��,�. $�� �/�����$����� R �→
{M ∈ M2(Z) : Im(M) ⊂ R} �� �	� $�����#��� ��� ��$���� �� 5 ������� ��	��
5 #������ �/��;�$��,���� "��� I �� ����� �� M2(Z). �� M ∈ M2(Z) �����  ��
Im(M) ⊂ Im(I)� ��� ���������. �� �
�	�� A,B ∈ I ���	  �� A(e1) = M(e1) ��
B(e2) = M(e2)� �=	 ���	. �� �

M = A

(
1 0
0 0

)
+B

(
0 0
0 1

)
∈ I.

H��	�. �� � #�����  �� M ∈ I ⇔ Im(M) ⊂ Im(I). �/�@ �/��;�$��,����

)���. $�##�M2(Z) 	/�������� 5
(
Z2

)2
. �� $�##�. �/���=	 �� ���	����#��� ���-

$�����. $���� �������$����� ��,��� I 	�� Im(I)2.M2(Z)/I 	/�������� 5
(
Z2/ Im(I)

)2
.

	� &���  �� N(I) = vol(Im(I))2� �

�/���=	 $���� $���$����	�����. �� ���� ����#&��� ��	 ��	���
 �� Z2 �� ,���#�
n ��  �� $���������� (n, 0) �� (0, n)� 9��	 	� ��	 ,�$����	 α �� β ���������� ��
��	��� R �� ,���#� n. �� #���������� �� #����$� (α β) ��� �� ����	��	�� �� 	�
$�#����$�. �� �&�����  �� (n, 0) �� (0, n) 	��� ���	 R�

�




!�����	�	�� �� " 5
�� Z2� �� ����	� �� 	���
�� �� #����� n ���
∑
d|n d�

��	�
�����
�
 � "��� R �� ��	��� �� Z2 �� ,���#� n. �� α = (α1, α2) �� β =
(β1, β2) ���
 ,�$����	 ���������� R� "��� d = α1 ∧ β1. �� u, v ∈ Z ���	  ��
uα+ vβ = d� 0� � ����	 D(

α1 β1

α2 β2

)(
u −β1/d
v α1/d

)
=

(
d 0
∗ n/d

)
>� 	�$���� #����$� �	� ��,��	�&��. 	� &���  �� ���� ��	��� R �	� �������� ���
��� #����$� �� �� '��#� (

d 0
x n/d

)
�@ x ∈ Z� 9��	.  ����� 5 �G�$���� ��� ��,�	��� ��$��������. �� ���� 	����	��
 �� x ∈ [0, n/d − 1]. �� ��� $�	 �� �	� $����  �� ��	 ��	���
 �����	 	��� ���
-
5-���
 ��	���$�	� H��	�. �� � �

∑
d|n n/d =

∑
d|n d ��	���
 �� ,���#� n ���	 Z2� �

��$� $��$��� �� ��#��	������� �� �����=#� 
��

��� "���������	 ������!��#��	

+����	��	 ��	  ���������	 �/R��F��8 ���������	 ���$���##��� ���� $���$��-
��	�� ��	  ���������	 ������$��&��	�

#�$�	�	�� " +�  ��������� z ∈ H(Z) �	� ��� ��
� 	� �� 	�##� �� 	�	 $��M$����	
�/�	�. �� 
	��
� 	�����

?����	  �� �� ������� �� ���
  ���������	 �#����	 �	� �#����. �� ������� ��
���
  ���������	 ����	 �	� ����. $���� �/�� ���� �� �/�� �#���� �	� �����

0� ���� ���;���	 α = 1+i+j+k
2 ∈ H̃(Z)� ��#�� ���	  �� 	� z ∈ H(Z). z ��

αzα ��� �� #<#� ������� )� �G��. �� $��;����	�� ��� α ��=�� ��� ���#�������
$��$������ �� i. j �� k�

(���� �
 " ���� z ∈ H(Z) �� "�
��	����� �� 
 
��	� ��� �"��#
������ ���#
���� %

z ��� �
�	 ⇔ αz ∈ H(Z) ⇔ αz ∈ H(Z)

>� �����	����� 	��,���� �	� ��� $���$����	����� ����� ��	  ���������	 ������$-
��&��	�

!�����	�	�� �� " δ ∈ H(Z) ��� �		��������� ��� �� ��������� ��� N(δ) ��� �	����	
�
�� Z�
��	�
�����
�
 � 9������	 �/�&��� �� ��	����� 	�� H̃(Z)�
"��� ���$ x ∈ H̃(Z). ���  �� N(x) = pb. �,�$ p ���#��� �� b ��� ��,��	�&���
9������	  �� x �/�	� ��	 ������$��&��� ��##� H̃(Z) �	� ����$���� 5 ���$��.
�� �
�	�� β ���  �� (α, p) = (β)� ��##� ���	 ��	 ���#���	 �� (α, p) ��� ����
���#� ��,�	�&�� ��� p. β �/�	� ��	 ��,��	�&��� C� �
�	�� q ���  �� p = βq. �� �/�� �
����	 p2 = N(β)N(q)� "� q �	� ��,��	�&��. p ��,�	� x. �� �� ��	����� �	� ��#������
"����. �� � ��$�		����#��� N(β) = N(q) = p� C� �
�	�� ���$ k ���  �� α = βk.
N(β) = p �� N(k) = b� H��	�. x �/�	� ��	 ������$��&���

��



6������	 #��������� �� $�	 �� H(Z)� "��� x ∈ H(Z). ���� �� ���#� �/�	� ��	
���#�=�� ���	 Z� 0� � #�����  �� ���	 $� $�	. x 	� '�$����	� 	�� H̃(Z) �� ���

 ���������	 ��� ��,��	�&��	 D x = ab� %����� 5 #������ a. �� ���� 	����	��  ��
b ∈ H(Z)� H���	. 	� a ∈ H(Z). �� ����,� �	� ���#����� "����. αa ∈ H(Z) ��
αa ∈ H(Z)� "����	��	 ��� �
�#���  �� αa ∈ H(Z)� 0� � ����	 x = α(αa)b�
��##� x ∈ H(Z). �/���=	 �� ��##� ���$�����. αa �� b 	��� ����	� ��##�
a 	∈ H(Z). αa �	� �#���� �� b �	� ����� 0� � ���$ x = (aα)(αb)� 0� � ,�  ��
H(Z) �	� 	��&�� ��� $��;����	�� ��� α. 	� &���  �� aα ∈ H(Z). �� �/���=	 ��
��##� ���$�����. αb ∈ H(Z)� H��	�. x �/�	� ��	 ������$��&�� 	�� H(Z)� �

��� ������ ��#�� 	�� ��� $� ���� �� ����������	

���	������	 ��	 8(p+ 1) 	�������	 �� �/� ������ a2
0 + a2

1 + a2
2 + a2

3 = p. �,�$
a0, a1, a2, a3 ∈ Z �� p ���#���� )� �����	��� �/� ������ #����� 4. �� ,����  �� 	�
α = a0 + a1i+ a2j + a3k �	� 	������� �� � D

O 	� p ≡ 1 (mod. 4). �/�� ��	 ai �	� �#���� �� ��	 �����	 	��� ����	 K
O 	� p ≡ 3 (mod. 4). �/�� ��	 ai �	� ���� �� ��	 �����	 	��� �#����	�

)� ���� $�	. �����	 a0
i $�� ���#��� ��	������� ���#� ��	 8 ���#���	 �		�$��	 5 α.

�� �� ��	������ ��  �� ��#���� |a0
i | ���� ������ ������� C� �	� ��� �� 	� a0 	= 0.

#��	 �/�� ���� $���	�� ��&�������#��� �/�� ��	 ���
 ��		�&��	 	� p ≡ 3 (mod. 4) ��
a0 = 0�

?����	 Sp �/��	�#&�� �� $�	 p + 1 	�������	 ��	�������	� "� α = a0 + a1i +
a2j + a3k ∈ Sp. α ∈ Sp 	�. �� 	����#��� 	�. a0 > 0� H��	�. �� �$��� Sp 	��	 ��
'��#�

Sp = {α1, α1, . . . , αs, αs, β1, . . . , βt}
�@ ��	 αi ��� ��� ������ ������ 	���$��#��� ��	���,�. �����	  �� $���� ��	 βi �	�
������ ��#�� ���	  �� 	� p ≡ 1 (mod. 4). ��	 βi 	��� �&	���	�

#�$�	�	�� " +� 	�� ����
� 	�� Sp �	� �� #�� 	�� �/�����&�� Sp �� $��������
��$�� '�$���� �� �� '��#� αiαi. αiαi �� β2

i �
0� ���� ����	 G = 〈x1, . . . , xs, y1, . . . , yt | yi = y−1

i : 1 � i � t〉� ��#�� ���	
 �� �� ������ �� ������ �		�$�� 5 $���� ���	�������� �� ������ G �	� �/��&��
(2s+ t)-��������. $/�	�-5-���� (p+ 1)-���������

���	������	 ����	 �� #���S��

Λ′ = {α ∈ H(Z) : α ≡ 1 (mod. 2) �� α ≡ i+j+k (mod. 2), ∃k ∈ N, N(α) = pk}.

0� ������ 	�� Λ′ �� �������� �/� ��,����$� ∼ �����  �� α ∼ β ⇔ (∃a, b ∈
N)(paα = ±pbβ)�

%����&�� �� " (� �	���� G ��� �����	��� � Λ = Λ′/ ∼� �� G(Λ, S̃p) ��� ��

	�	� (p+ 1)
	������	�

�� �����=#� ��$���� �� ��	����� 	��,��� D

(���� �� " ���� k ∈ N �� α ∈ H(Z) ���� "�� N(α) = pk� '��	�� α 
���� ���
���"�� *
���	��
���� �� �
 *�	�� α = εprwm� �& ε ��� �� ��#�	����� �� H(Z) ��
wm �� ��� 	����� ��	 Sp �� �������	 m� 
#�� k = 2r +m�

��



��	�
�����
�
 � "��� α ∈ H(Z) ���  �� N(α) = pk� �/���=	 �� �����	����� 
(.
α 	/�$��� $�##� ������� �/������$��&��	. ���� α = δ1 . . . δn� �� ���	. �� �����	�-
���� �� �����P��  ��. ���� ���� i ∈ {1, . . . , n}. N(δi) = p ��  �� n = k� �� $�
'���. �� �
�	�� εi �� γi ∈ Sp ���	  �� δi = εiγi�
>�	  ���������	 �� $�##����� ��	� ���������. �� �	� $����  ��. ���� ���� γ ∈ Sp
�� ���� ε ��,��	�&��. �� �
�	�� γ′ ∈ Sp �� ε′ ��,��	�&�� ���	  �� γε = ε′γ′� 0� ����
���$ '�$����	�� α �� α = εγ1 . . . γk. �,�$ ���;���	 ε ��,��	�&�� �� γi ∈ Sp� 0�
������ ����	 �� #�� γ1 . . . γk. $�  �� '��� ������P��� �� ���#� pr�
���� #����� �/�
�	���$� �� �� '�$����	����� ���������
���� ���&��� �/���$��� �� $���� '�$����	�����. #������	  �/�� � � ������ ��  ��-
�������	 �� ���#� pk  �� �� '�$����	�����	 ��		�&��	� 0� $��$��� '�$���#���  ��
�� ��#&�� �� #��	 ������	 �� �������� m �	�{

1 	� m = 0 ;
(p+ 1)pm−1 	� m � 1.

0� �� ������  �� �� ��#&�� �/�
���		���	 �� �� '��#� εprwm. �,�$ ε ��,��	�&��.
wm �� #�� ������ �� �������� m �� 2r +m = k. �	�⎧⎪⎪⎪⎪⎪⎨⎪⎪⎪⎪⎪⎩

8

⎛⎝1 +

k
2−1∑
r=0

(p+ 1)pk−2r−1

⎞⎠ 	� k �	� ���� K

8

k−1
2∑

r=0

(p+ 1)pk−2r−1 	� k �	� �#�����

)� 	�#������� $�	 �
���		���	. �� �&�����  �� �� ��#&�� �� �����	 �
���		���	

�	� 8
(
pk+1−1
p−1

)
 ���  �� 	��� k� )���. �� �����=#� 
� �		���  �� �� ��#&�� ��

 ���������	 �� ���#� pk �	�

8
k∑
i=0

pi = 8
(
pk+1 − 1
p− 1

)
.

>/���$��� �	� ���	� ��#������� �

>/�
�	���$� �� �� '�$����	�����. ����$�� ���	 �� ��##�. �		���  �� G(Λ, S̃p) �	�
$����
�� "/�� �
�	���� �� $��$��� ���	 $� ������. �� #�� ������ �		�$�� $�����������
�/���$��� �� �� '�$����	����� �� pn� H��	�. G(Λ, S̃p) �	� �� ��&��. �/�	�#�����	#�
����� G �� Λ �	� �,����� �� �� �����=#� �� �	� ��#������

! "���	���	
�� ��� ������� Yp,q

"��� q �� ��#&�� ���#��� ��	���$� �� p� ?��	 �����	 ������ ��	 ������	 Yp,q
$�##�  �������	 �� �/��&�� (p+1)-��������.  �� �	� �� ������ �� ������ G(Λ, S̃p).
�@ S̃p �	� �/��	�#&�� ��	 $��		�	 ��	 ���#���	 �� Sp ���� �� �������� ∼� ��	
 �������	 	����� ������	 ��� ��� ����$���� ��	  ���������	 #����� q�

��



%�� ���������	

"��� τq : H(Z) → H(Fq) �� 	��;�$���� $����� ��� ������#���. τq : Λ′ → H(Fq)
������ �� #�����	#� Πq : Λ → H(Fq)

×/Zq. �@ Zq = {α ∈ H(Fq) : α = α}� )�
���#�	 #����$���	 1$'� �����	����� 
�4. Πq �	� �� #�����	#� �� ������	 �� Λ
���	 PGL2(Fq)�

?����	 Λ(q) 	�� ����� �� ��	��	 Sp,q = Πq(S̃p)�

(���� �' " �� q ��� 
���/ �	
�� �q > 2
√
p ��6��� �� 
 |Sp,q| = |Sp| = p+ 1�

��	�
�����
�
 � "����	��	  �� q > 2
√
p. �� #������	  �� $���� #�;������� �	�

	�M	����� "����� α = a0 + ia1 + ja2 + ka3 �� β = b0 + ib1 + jb2 + kb3 ���

���#���	 �� Sp ��	���$�	� ��##� N(α) = N(β) = p. ���� ���� j ∈ {0, 1, 2, 3}.
aj , bj ∈ [−√

p,
√
p]. 	� &���  �� τq(α) 	= τq(β)� ?����	 π �� ���;�$���� �� H(Fq)

×

���	 H(Fq)
×/Zq� "����	��	  �� �/�� ��� π ◦ τq(α) = π ◦ τq(β)� C� �
�	������ ����	

λ ∈ F×
q ���  �� τq(α) = λτq(β)� )� ������� �� ���#�. �� �&�����  �� p = λ2p.

�/�@ λ = −1� 9��	 $�##�. ��� ������=	�. a0, b0 � 0. �� � �� '��� a0 = b0 = 0.
�� ���$ β = α� ��$� �	� �#��		�&�� ��� $��	���$���� �� Sp� �

0� 	����	��� ��� �� 	���� $���� $�������� ��#����� 0� ���� ����	 ������ ��	
Yp,q D

Yp,q = G(Λ/Λ(q), Sp,q)

)� ����  ��  ������� �/�� ��&��. Yp,q �	� $����
� ��. �/���=	 �� ��##� �(.
Yp,q �	� (p+1)-��������� ���� ���&��� ��	 ���������	 	��$�����	 �� �� '�#���� Yp,q.
�� '��� ��������� �� 	��	-������ Λ/Λ(q) �� PGL2(Fq)�

0� �����	��� �#���$���#��� �� $�##�����,��� �� ������##� 	��,����

Sp ⊂ Λ′ τq−−−−→ H(Fq)
× GL 2(Fq)⏐⏐� ⏐⏐� ⏐⏐�

S̃p ⊂ Λ
Πq−−−−→ H(Fq)

×
/Zq PGL2(Fq)

(���� �� "
Λ(q) = {α̃ ∈ Λ : α = α (mod. q)}

��	�
�����
�
 � ���� ��	���� �� '���  �� p �� q 	��� ��	 ��#&��	 ���#���	 ��	-
���$�	� �

>� 	�	���� �� ������ Yp,q �	� ���� 5 �� �������� #���#��� ��	 ��������	 ���-
��		��� ��  ������� Λ/Λ(q)� >� #��������� ���&��� ���	 �� �����	����� 	��,����
���#����� �/���&���  �� $������	 ���#���	 ��  ������� 	��� ��� ���,���
�

!�����	�	�� �* " �� 
 �
 ����	
���� g(Yp,q) � 2 logp q� �� �� ����
(
p
q

)
= −1�

�� 
 �7�� g(Yp,q) � 4 logp q − logp 4�

��	�
�����
�
 � "��� g = g(Yp,q). �� x0, . . . , xg−1, xg = x0 ��	 	�##��	 �/��
$�$�� �� �������� g� ��� ����	���,���. �� ���� 	����	��  �� x0 = xg = 1� "�����
����	 t1, . . . , tg ∈ Sp,q ���	  �� xi = tixi−1 ���� 1 � i � g. �� 	��� γi �/��� ��

�(



����$����� �� ti ��� Πq� 0� ���� α = γ1 . . . γg ∈ Λ′. �� α = a0 +a1i+a2j+a3k�
�=	 ���	. α �	� �� #�� ������ 	�� Sp. $�� 	����. α̃ ∈ Λ �� 	����� ��	 ������
1�� ����  �� $��#�� �� ������4. $�  �� $����������� 	� #���#������ �� $� '���.
�/���=	 �� �����=#� ��. α 	∼ 1 ���	 Λ′�
���� �����P��  �� �/�� ��	 ��#&��	 a1, a2, a3 �� #���	 �	� ��� ���� �� ���	. ���
$��	���$����. α̃ ∈ Λ(q)� �/���=	 �� ��##� ��. ��	 ��#&��	 a1, a2, a3 	��� ���$
��,�	�&��	 ��� q. 	� &���  ��

pg = N(α) � q2.

)� ������� �� ��������#�. �� �&����� �� ��	������

"� #���������
(
p
q

)
= −1. $�##� pg ≡ a2

0 (mod. q). �� �

1 =
(
pg

q

)
=

(
p

q

)g
= (−1)g.

H��	�. g �	� ����� ?����	 ���$ g = 2h� )� �����$�����.

p2h ≡ a2
0 (mod. q2).

��##� p �/�	� ��	 ��,�	�&�� ��� q. �� �� ������  �� �/�� �

ph ≡ ±a0 (mod. q2).

�� ���	. $�##� a2
0 � pg. |a0| � ph� �=	 ���	. 	� �/�� 	����	� ph < q2/2. ��

� ��$�		����#��� ph = ±a0. �� ���$ pg = N(α) = a2
0� ���� �#��� ��  ��

a1 = a2 = a3 = 0. $�  �� �	� �#��		�&�� $�� α 	∼ 1� H��	�. �� � �/���������
ph � q2/2. $�  �� ����� �� ��	����� �� ������� �� ��������#�� �

>� �����	����� �. �		�$��� 5 �� �����	����� ���$������. ���#�� �� ������� ��
��	����� 	��,����

!�����	�	�� �� " �� p � 3� �� 
 ������
����

|Yp,q| � q

p
.

�� �� ����
(
p
q

)
= −1� �� 
 �7��

|Yp,q| � q2

2p
.

%����&�� �� " ��������� "�� p � 3� �� q > p8� �� ���� ��������	 Λ/Λ(q) %

Λ/Λ(q) =

⎧⎨⎩ PSL2(Fq) ��
(
p
q

)
= 1 ;

PGL2(Fq) ��
(
p
q

)
= −1.

��	�
�����
�
 � ?����	 �/�&���  �� ���	 �� ���#��� $�	. �� � Sp,q ⊂ PSL2(Fq).
�����	  �� ���	 �� ���
�=#�. Sp,q ⊂ PGL2(Fq) \ PSL2(Fq)� )� �G��. 	� A ∈

��



GL 2(Fq). [A] ∈ PSL2(Fq) 	�. �� 	����#��� 	�. det(A) �	� �� $���� ���	 Fq� 0� 	�
α ∈ Sp �� 	� A ∈ GL 2(Fq) �	� �� #����$� �		�$���. p = N(α) = det(A)�
H��	�. 	� �/�� ���� Hp,q = PSL2(Fq) ∩ (Λ/Λ(q)). �� 	�M� ���	 ���	 ��	 $�	 ��
#������  �� Hp,q = PSL2(Fq)� �/���=	 �� �����=#� 
!. �� 	�M� �� #������  ��
|Hp,q| > 60 ��  �� Hp,q �/�	� ��	 #���&������
��##� q > p8 �� p > 3. �� �. �/���=	 �� �����	����� �!

|Λ/Λ(q)| � q

p
> 120,

�/�@ |Hp,q| > 60�
��	�� 5 #������  �� Hp,q �/�	� ��	 #���&�����. $�  �� ��,����. �/���=	 �� ���-
��	����� �*. 5 ����,�� g1, g2, g3, g4 ∈ Hp,q ���	  �� [[g1, g2], [g3, g4]] 	= 1�

O "�
(
p
q

)
= 1. 	��� g1 = g3 ∈ Sp,q. g2 ∈ Sp,q \ {g±1

1 } �� g4 ∈ Sp,q \ {g±1
1 , g±1

2 }�
H���	. [[g1, g2], [g3, g4]] �	� �� #�� ������ �� �������� 16 	�� Sp,q� 0� �� � ,�
1$'� �����	����� �*4  �� g(Yp,q) � 2 logp q > 16� H��	�. [[g1, g2], [g3, g4]] 	= 1�

O "�
(
p
q

)
= −1. ��	 ���#���	 �� Sp,q �� 	��� ��	 ���	 Hp,q. #��	 �� �������

�� ���
 �/����� ��
 � �	�� "��� ���$ h1 ∈ Sp,q. h2 ∈ Sp,q \ {h±1
1 } �� h3 ∈

Sp,q\{h±1
1 , h±1

2 }� 0� ��	� ����	 g1 = h1h3. g2 = h2h3. g3 = h1h2 �� g4 = h3h2�
0� ,����� ��	����  �� [[g1, g2], [g3, g4]] �	� �� #�� ������ �� �������� 24 	��
Sp,q� 0� �� 	���  �� ���	 $� $�	. g(Yp,q) � 4 logp q − logp 4 > 24� H��	�.
[[g1, g2], [g3, g4]] 	= 1�

���� $��$��� �� ��#��	������� �� �����=#�� �

%�
 &	�� �����	 	��!�����	

>� &�� �� $� ���������� �	� �� #������ �	�#����� ��#��� �� ���� 	��$����
��	 ������	 Yp,q. $�  �� ������� �� �����$����� �� '���  �� $�	 ������	 	���
�
���	���	�

���	 �� ���#��� ��#�	. �� $��	��=��  �� �/�� 	� ����,� ���	 �� ������
	�#��� k-�������� X ��� �������  ���$�� ���

#�$�	�	�� " ���	 �� ������. �� ����  �/�� $��#�� �	� ������ 	/�� �� ��		�
;�#��	 ���
 '��	 �� 	���� ��� �� #<#� ��<���
0� ������ F
(a, b) �/��	�#&�� ��	 $��#��	 ������	 �� �������� � �� a 5 b ��
A
 �� #����$� '��#�� ��	 $�������
 ��	 F
(a, b)� ?����	  �� A1 �	� �� #����$�
�/��;�$��$� �� ������ X �

#�$�	�	�� " >� m���� �����N#� �� 	�$���� �	�=$� �� 6$��&�$��, �	� �� �N��-
�N#� Um ,�������

∀θ ∈ C, Um(cos θ) =
sin(m+ 1)θ

sin θ
.

!�����	�	�� �� " (�� ��� �8��� �� ������� ���,�� �� 2���� ���# �������� ��
#�	����� %
. U0 = 1 �
. U1 = 2X �
. ∀m � 1, Um+1 = 2XUm − Um−1�

�*



��	�
�����
�
 � �/�	� �,������ �

(���� �
 " (�� �
�	���� A
 #�	����� �
 	��
���� �� 	���		���� ���#
��� %

∀� � 1, A
+1 = A1A
 − (k − �
 �=1)A
−1.

��	�
�����
�
 � A1A
 �	� �� #����$� ��	 ��#&��	 �� $��#��	 �� �������� �+ 1
 �� 	��' ����-<��� �� ���� ��&�� �� ��		��� ��	 ���
 '��	 �� 	���� ��� �� #<#�
��<���
(k − �
 �=1)A
−1 �	� �� #����$� ��	 ��#&��	 �� $��#��	 �� �������� �+1 ��		���
���
 '��	 ��� �� #<#� ��<�� �� ��&�� ���	  �� �� ��		��� ���	 ;�#��	 ���
 '��	
�� 	���� ��� �� #<#� ��<�� 1�� $���	�� �� $��#�� �� �������� �−1 ���	 �� ,��	��
�� 	�##�� �� ������ ��G����� �� 	�$��� 	�##�� ������� ��� �� $��#�� $���	�4�
��$� �$�=,� �� ��#��	�������� �

%����&�� �� " !��	 ���� m �����	 �
��	��� �� 
 ����
���� ���#
��� %∑
0�
�m

2

Am−2
 = (k − 1)
m
2 Um

(
A1

2
√
k − 1

)
.

��	�
�����
�
 � ���$����	 ��� ��$�����$� 	�� m D
O "� m = 0. $/�	� �,������
O "� m > 0.∑

0�
�m
2

Am−2
 =
∑

0�
�m
2 −1

(A1Am−2
−1 − (k − �m−2
 �=2)Am−2
−2)+Am−2[m2 ].

0�. ��� ������=	� �� ��$�����$�.

A1

∑
0�
�m

2 −1

Am−2
−1 = A1(k − 1)
m−1

2 Um−1

(
A1

2
√
k − 1

)
− �2�mA1

��. ∑
0�
�m

2 −1

(k − �m−2
 �=2)Am−2
−2 = (k − 1)
m
2 Um−2

(
A1

2
√
k − 1

)
+ �2|m Id .

���$ �����#���.∑
0�
�m

2

Am−2
 = A1(k − 1)
m−1

2 Um−1

(
A1

2
√
k − 1

)
− (k − 1)

m
2 Um−2

(
A1

2
√
k − 1

)

= (k − 1)
m
2

(
A1√
k − 1

Um−1

(
A1

2
√
k − 1

)
− Um−2

(
A1

2
√
k − 1

))
= (k − 1)

m
2 Um

(
A1

2
√
k − 1

)
.


!



�
"� �� ������ X � n 	�##��	 �� 	� (μj)0�j�n−1 ��	���� �� 	���� �� 	�	 ,�����	
������	. �� � D
 ���))
	�� �� " 9�	���� �� �
 �	
�� %∑

x∈X

∑
0�r�m

2

(Am−2r)(x,x) = (k − 1)
m
2

n−1∑
j=0

Um

(
μj

2
√
k − 1

)
.

��	�
�����
�
 � �/�	� �� ��		��� 5 �� ���$� �� �/������� �� �����=#� ���$�����
1$�$� �	� �,����� $�� �� #����$� �/��;�$��$� �� X �	� 	�#���� �� ���$ �������-
��	�&��4� �

��,����	 �� $�	 �� ������ Yp,q� �/�	� �� ������ �� ����� ���$ 	�	 ����#��-
���	#�	 ���		��� ����	���,�#��� 	�� 	�	 	�##��	 1�� ��		��� �/�� 	�##�� g1 5
�� 	�##�� g2 	� '��� ��� �� #�����	#� �� #�������$����� 5 ���$�� ��� g2g

−1
1 4�

"� �/�� ���� ���� 	�#������ F
 = F
(x, x) �� f
 = |F
| = A
(x, x). �� '��#��� ��
�� ���$� ��,���� ���$ D ∑

0�r�m
2

fm−2r =
p
m
2

n

n−1∑
j=0

Um

(
μj

2
√
p

)

#�$�	�	�� " ���� m �� ������ �������. �� ������ D

Sq(m) = {α ∈ Λ′ : N(α) = pm, α ≡ α[q]}
sq(m) = |Sq(m)|

(���� �� " �� m ��� �� �����	 �
��	���

sq(m) = 2
∑

0�r�m
2

fm−2r

��	�
�����
�
 � 6��� �/�&���. ���� ���� � ∈ N. �� � ��� &�;�$���� ϕ �� F
 ���	
�/��	�#&�� ��	 ���#���	 �� Λ(q) 	/�$��,��� $�##� #��	 ������	 �� �������� �
	�� S̃p� )� �G��. 	� �� � �� $��$��� ������ �� �������� � ���	 Yp,q. �� ��� �		�$��
���������#��� �� #�� ������ w �� �������� � 	�� S̃p� ����� �����$����� �	� &���
	J� ��;�$��,�� ��##� $/�	� �� $��$���. Πq(w) = 1 �� w ∈ Λ(q) K ��$���� ��#���
�� $����  �� ���� #�� ������ �� �������� � 	�� S̃q  �� �	� ���	 Λ(q) '��#� ��
$��$��� �� �������� � 	��	 ������ �� ����=���
>�	 ���#���	 �� Sq(m) 	��� �
�$��#��� $��
 �� Λ(q)  �� 	/�$��,��� ±p
wm−2


�@ wm−2
 �	� �� #�� ������ �� �������� m− 2� 	�� S̃p 1,��� ��##�	 �� �� ��4
�/�@ �� ��	������ �

(���� �' " 2���� #
���	 �	��	� μ �� Yp,q �� ������ ��	�������� ��*�	���	 �
p+ 1 
 ��� ������������ ����	���	� � q−1

2 �

��	�
�����
�
 � ?����	 G �� 	��	-������ �� PGL2(Fq) �������� ��� Sp,q. $/�	�-
5-���� PSL2(Fq) 	� � �	� �� $���� #����� q �� PGL2(Fq) 	�����


�



?����	. ���� g ∈ PSL2(Fq). γg : G→ G �� #�������$����� 5 ���$�� ��� g�
PSL2(Fq) ���� ��������#��� 5 ���$�� 	�� �2(G) ��� �/�����$����� 	��,���� D
(g, f) �→ f ◦ γg−1 � ��##� Yp,q �	� �� ������ �� ������ �� G. 	� #����$� ����
���������#��� 	�� �2(G) �� 	�� �$���� $�##��� �,�$ �/�$���� �� PSL2(Fq)� "� Vμ
�	� �� 	��	-�	��$� ������ �� Yp,q �		�$�� 5 μ. Vμ �	� ����	 ��,������ ��� �/�$����
�� PSL2(Fq) ���$ PSL2(Fq) ���� 	�� Vμ�
"� $���� �$���� ����� ���,����. $/�	�-5-���� 	� ∀(g, f) ∈ PSL2(Fq)×Vμ, f ◦γg−1 = f .
��	 ���#���	 �� Vμ 	������� $��	����	 	�� PSL2(Fq) �� 	�� G \ PSL2(Fq)� "��� f
��� ����� ���	 Vμ. x ���	 G �@ f �� 	/������ ��	 D

μ2f(x) = (Y 2
p,qf)(x) =

∑
(s1,s2)∈S2

p,q

f(s1s2x)

���	. $�##� ∀(s1, s2) ∈ S2
p,q, s1s2 ∈ PSL2(Fq).

μ2f(x) = |S2
p,q|f(x) = (p+ 1)2f(x).

��##� f(x) 	= 0. |μ| = p+ 1 $�  �� �	� �&	�����
E�����#���. �/�$���� �� PSL2(Fq) 	�� Vμ �	� ��� ���,��� K $�##� ����� �����-
	�������� ��� ���,���� �� PSL2(Fq) �	� �� ��#��	��� 	��������� 5 q−1

2 1,��� ��
�����=#� 
�4. dimVμ � q−1

2 . �

(���� �� " !��	 ���� ε > 0 �� "�
�� m ��� �
�	�

sq(m) = O

(
pm(1+ε)

q3
+
p
m
2 (1+2ε)

q

)
.

��	�
�����
�
 � sq(m) �	� �� ��#&�� �� 	�������	 ����=��	 �� x2
1 + q2(x2

2 + x2
3 +

x2
4) = pm�

����� � ������ �#��� �� q2 | (x1 − p
m
2
) (
x1 + p

m
2
)
���$ x1 ≡ ±pm2 [q2] 1$�� q ��

���� ��	 ��,�	�� ��	 ���
 '�$����	 �� #<#� ��#�	4 $�  �� ���	 ����� �� ���	

2
(
p
m
2

q2 + 1
)
$���
 ���� x1�

C� 	/���� #��������� �� '��#�� pm−x2
1

q2 $�##� 	�##� �� ����	 $����	. $�  �� ���	

����� 1�/���=	 �� $��������� �!4 O

((
pm

q2

) 1
2+ε

)
��		�&�����	�

��$� ���� �� ����,�� �

!�����	�	�� �* " �� Um ������� �� m
�,�� ��� �8�� �� 2���� ���#�

�� ∀x ∈ R, Um(coshx) = sinh(m+1)x
sinh x �

��� ∀x ∈ R, Um(− coshx) = (−1)m sinh(m+1)x
sinh x �

���� �� m ��� �
�	� ∀x ∈ R, Um(x) � −(m+ 1)�

��	�
�����
�
 �

�4 "��� x ∈ R D

Um(coshx) = Um(cos ix) =
sin(m+ 1)ix

sin ix
=

sinh(m+ 1)x
sinhx

.


�



��4 "��� x ∈ R D

Um(− coshx) = Um(cos(π + ix)) =
sin(m+ 1)(π + ix)

sin(π + ix)

= (−1)m
sinh(m+ 1)x

sinhx
.

���4 "��� x ∈ R D
"� x ∈ [−1, 1]. �����	 x = cos θ K �� � ����	

Um(x) =
sin(m+ 1)θ

sin θ
� −(m+ 1).

"����. ��	 ��	�����	 ���$�����	 ���	 ���� ����. $�##� m �	� ����  �� 	�
ψ = arccosh |x|. Um(x) = sinh(m+1)ψ

sinhψ � 0�
�

%����&�� �� " !��	 ���� ε ∈ ]
0, 1

6

]
� "�
�� q ���� #�	� �������� ����� #
���	

�	��	� μ �� Yp,q �� ������ ��:�	��� �� p+ 1 #�	��� %

|μ| � p
5
6+ε + p

1
6−ε.

���
 �����"�� �� �
	�������	� ����� ��� Yp,q ���� ��������� "����� *�	���� ���
*
����� �� �	
���� ���
����	��

��	�
�����
�
 � ��:$� �� ��##� ��. �� '��#��� �� �� ���$� ��,���� D

sq(m) =
2
n
p
m
2

n−1∑
j=0

Um

(
μj

2
√
p

)
��	��#��	. �� 	����	���  �� m �	� �����
"� μq �	� ��� ,����� ������ �� Yp,q �� ���	 ����� #����� ��G����� �� p+ 1 1��

�����$�����. |μq| > 2
√
p4. �����	 ψq = arccosh |μq |

2
√
p K �/���=	 �� ��##� �( �� ��

�����	����� �*. �� � ����	 D

sq(m) � 2
n
p
m
2
q − 1

2
sinh(m+ 1)ψq

sinhψq
− 2p

m
2 (m+ 1).

���	 ��� �� ��##� ��.

q − 1
2n

sinh(m+ 1)ψq
sinhψq

= O

(
pm( 1

2+ε)

q3
+
pmε

q

)
+ (m+ 1)

$�  �� �#��� ��. $�##� n � q3.  ��

q − 1
2

sinh(m+ 1)ψq
sinhψq

= O
(
pm( 1

2+ε) + q2pmε
)

+ q3(m+ 1).

����	�		��	 #��������� ���� m �� ���	 ����� ������ ���� ���  �� p
m
2 � q3. $/�	�-

5-���� m = 2
[
3 logp q

]
K �� � ����	 D

q − 1
2

sinh(m+ 1)ψq = O
(
q3+6ε

)






$�� sinhψq < coshψq < p+ 1�
"����	��	 #��������� ��� �/�&	����  �/�� �
�	�� ��� 	���� 	���$��#��� $���		����
(qj)j∈N �/������	 �������	 �����  �� ���� ���� j ∈ N. |μqj | > p

5
6+ε + p

1
6−ε $/�	�-

5-����. ���� ���� j ∈ N. ψqj >
(

1
3 + ε

)
log p�

��##� m ���� ,��	 �/����� �� #<#� ��#�	  �� j. ���� ���� j �		�8 �����.

sinh(m+ 1)ψqj � e(m+1)ψqj

3
� e(−1+6 logp qj)ψqj

3
� e6 logp qjψqj

3
√
p

.

���� ����� ����	 D
qj − 1

2
= O

(
q
3+6ε− 6ψqj

log p
j

)
���$  ���� j ��,���� �����. ψqj �

(
1
3 + ε

)
log p $�  �� $�������� �/������=	�

'���� $�-��		�	� �

��#�������

2�3 �� ��,���G. �� "����T. H� U������. !
 ���	�
���� ��
������
�
 �� "�	�
��

#�
 ������. �����&��$������

2�3 H� >�&��8T�. �
������ ������$ ����
�

� ������ �
� 

���
�
� 	�������.
������		 �� 9����#���$	 ���. V��T�W�	��. �**��

2
3 �� H� 9������	. %���
�
� ��
������
�
 �� ��
��
�������. ���&��#	 C�'��#�
6���	#�		��� * 1�*(
4. 
��-

��

2�3 H� >�&��8T�. �� �������	 ��� �� "����T. "�	�
�#�
 ��
#������� �
� ����
�
�

��
������
�
 �� ����
����. ���$� "�#�� �� 6���� �' ��#�� "$��. �� 1�*��4.
��!-����

2�3 H� >�&��8T�. �� �������	 ��� �� "����T."�	�
�#�
 ������. ��#&�������$� �
1�*��4. ���-�((�


�


